UGC NET 2021 Social Work

Topic:- SocWok_SH2_set1_A

1) The definition of global social work (2014) states that ‘Social work is a practice based
profession and an academic discipline that promote social change and development, ...... and
the empowerment and liberation of the people’.

(1) Social Justice (2) Human Right
(3) Social Cohesion (4) Social understanding
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[Question ID = 2626][Question Description = Q01_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10501]
2. 2 [Option ID = 10502]
3. 3 [Option ID = 10503]
4. 4 [Option ID = 10504]

2)  Who questioned the status of social work as a profession in Baltimore Conference of

Charities and Corrections held in 1915%

(1) Mary Richmond (2) Abraham Flexner
(3) Ernest Greenwood (4 S K Ehinduka
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[Question ID = 2627][Question Description = Q02_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10505]
2. 2 [Option ID = 10506]
3. 3 [Option ID = 10507]
4. 4 [Option ID = 10508]

3)  “Want. Disease, Ignorance. Squlor and Idleness” were the five giants to be tackeled by a

massive programme of social legislation. It was proposed by

(1) HH. Pearlman (2) William Beveridee
(3) Clarke William (4) Hughman
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[Question ID = 2628][Question Description = Q03_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10509]
2. 2 [Option ID = 10510]
3. 3 [Option ID = 10511]
4. 4 [Option ID = 10512]

4)  “An effort aimed at initiating suitable changes and reforms to improve socio-economic



conditions and to better social climate” 1s termed as
(1) Social Reform (2) Social Action

(3) Community Organisation (4) Community Development
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[Question ID = 2629][Question Description = Q04_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10513]

2. 2 [Option ID = 10514]
3. 3 [Option ID = 10515]
4. 4 [Option ID = 10516]

5) Differential Association Theory (1959) is given by
(1) Emile Durkheim (2) Max Weber
(3) Mac Iver (4) Sutherland
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[Question ID = 2630][Question Description = Q05_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10517]

2. 2 [Option ID = 10518]
3. 3 [Option ID = 10519]
4. 4 [Option ID = 10520]

6) The concept of ‘T and ‘Me’ with reference to development of ‘self was used by

(1) S. Freud (2) C.H. Cooley

(3) H.M. Johnson (4) G.H. Mead
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[Question ID = 2631][Question Description = Q06_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10521]

2. 2 [Option ID = 10522]
3. 3 [Option ID = 10523]
4. 4 [Option ID = 10524]

7) A process of zocial influence in which a person can enlist the aid and support of others in the

accomplishment of a common task is called as

(1) Power (2) Authority

(3 Leadership (4) Status

Tt warE = uiEar, Ted v =fea i @m0 9u w0 % T w=r @ geEar a1 wme we

e S s o0



Lt =R o) AlTENS

3 = (4) e

[Question ID = 2632][Question Description = Q07_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10525]
2. 2 [Option ID = 10526]
3. 3 [Option ID = 10527]
4. 4 [Option ID = 10528]

8)  Which among the following is not a component of attitude?
(1 Affective component (2) Behavioural component
(3) Cognitive component (4) Perception component
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[Question ID = 2633][Question Description = Q08_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10529]
2. 2 [Option ID = 10530]
3. 3 [Option ID = 10531]
4. 4 [Option ID = 10532]

N A system of behaviour and psychological processes occurring within a social group or

between soclal groups 1s often termed as

(1) Group cohesion (2) Group dynamics
(3 Group behaviour (4) Decision making behaviour
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[Question ID = 2634][Question Description = Q09_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10533]
2. 2 [Option ID = 10534]
3. 3 [Option ID = 10535]
4. 4 [Option ID = 10536]

10)  Which amongst the following is not the principle of group work?

(1 Taking decisions quickly on behalf of the group for establishing acceptance
(2) Planned organization of the group
(3 Providing new opportunities to the group
(4) Use of scientific action plan
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[Question ID = 2635][Question Description = Q10_SocWork_SHAAN_0521_S2_Shift1]

1. 1 [Option ID = 10537]
2. 2 [Option ID = 10538]



3. 3 [Option ID = 10539]
4. 4 [Option ID = 10540]

1) “Tool in Treatment is the phrase first used by :
(1) Perlman (2) Treckar
(3) Grace Marcus (4) Grace Mathews
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[Question ID = 2636][Question Description = Q11_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10541]
2. 2 [Option ID = 10542]

3. 3 [Option ID = 10543]
4. 4 [Option ID = 10544]

12)  The following terms are frequently used to describe the rationale for home visits except

(1) Empowerment (2) Enablement

(3) Enhancement (4) Engagement
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[Question ID = 2637][Question Description = Q12_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10545]
2. 2 [Option ID = 10546]
3. 3 [Option ID = 10547]
4. 4 [Option ID = 10548]

13)  Prof. HY. Siddiqui. in 1997. worked out a set of principles based on the
existing evidence based indigenous community organisation practices in the Indian context.
(1) Six (2) Seven
(3) Eight (4 Nine
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[Question ID = 2638][Question Description = Q13_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10549]
2. 2 [Option ID = 10550]
3. 3 [Option ID = 10551]
4. 4 [Option ID = 10552]

14)  The first and foremost step in Community Organisation process is

(1) identification and prioritization of needs
(2) adjustment of needs and resources
(3) mobilization of necessary resources
(4) Initiating social change
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[Question ID = 2639][Question Description = Q14_SocWork_SHAAN_0521_S2_Shift1]

1. 1 [Option ID = 10553]
2. 2 [Option ID = 10554]
3. 3 [Option ID = 10555]
4. 4 [Option ID = 10556]

15)  “Social action is mass betterment through propaganda and legislation”. This statement is
credited to

(1) Mary Richmond (2) Octavia Hill

(3) Murray.G.Ross (4) Kenneth Pray
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[Question ID = 2640][Question Description = Q15_SocWork_SHAAN_0521_S2_Shift1]

1. 1 [Option ID = 10557]
2. 2 [Option ID = 10558]
3. 3 [Option ID = 10559]
4. 4 [Option ID = 10560]

16)  Which of the following is not a model of Community Development proposed by H.Y. Siddiqui?

(1) Neighbourhood Development Model (2) System Change Model
(3) Social Action Model (4) Structural Change Model
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[Question ID = 2641][Question Description = Q16_SocWork_SHAAN_0521_S2_Shift1]

1. 1 [Option ID = 10561]
2. 2 [Option ID = 10562]
3. 3 [Option ID = 10563]
4. 4 [Option ID = 10564]

17 S : i . .
) The principle that ‘the discontent must be widely shared’ means

(1) Spreading discontent (2) Propagating discontent

(3) Discontent ‘per se’ is good (4) Openness to community
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[Question ID = 2642][Question Description = Q17_SocWork_SHAAN_0521_S2_Shift1]

1. 1 [Option ID = 10565]
2. 2 [Option ID = 10566]
3. 3 [Option ID = 10567]
4. 4 [Option ID = 10568]

18)  Which is the correct formula of relationship between mean, median and mode?

(1) Mode = 3 Median — 2 Mean (2) Median = 3 Mode — 2 Mean
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[Question ID = 2643][Question Description = Q18_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10569]
2. 2 [Option ID = 10570]
3. 3 [Option ID = 10571]
4. 4 [Option ID = 10572]

19 : d ; o
) ‘Triangulation’ 1= a method of assessing validity of one’s research by
(1) Collecting three generational data
(2) Analyzing three generational data
(3) Using different methods and theoretical analysis of different subject of study by one
or more researchers
(4) Mixing of different methods and theoretical analysis of same subject of study by cne
or more researchers
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[Question ID = 2644][Question Description = Q19_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10573]
2. 2 [Option ID = 10574]
3. 3 [Option ID = 10575]
4. 4 [Option ID = 10576]

20)  Thematic and text analysis are used in
(1) Path analysis (2) Data analysis
(3) Form analysis (4) Content analysis
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[Question ID = 2645][Question Description = Q20_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10577]
2. 2 [Option ID = 10578]
3. 3 [Option ID = 10579]
4. 4 [Option ID = 10580]

21) Range is a measure of

(1) Central tendency (2) Dispersion
(3 Asszociation (4) Correlation
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[Question ID = 2646][Question Description = Q21_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10581]
2. 2 [Option ID = 10582]
3. 3 [Option ID = 10583]
4. 4 [Option ID = 10584]

22 i ; : : y
) Which 1s considered as the negative process in human resource functions?

(1) Recruitment (2) Selection
(3) Training (4) Transfer
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[Question ID = 2647][Question Description = Q22_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10585]
2. 2 [Option ID = 10586]
3. 3 [Option ID = 10587]
4. 4 [Option ID = 10588]

23) To fight with COVID-19, Prime Minister has created a PMCARES fund. [ts full name is

(1) Prime Minister Children, Adult, Residents and Emigrant Support Fund
(2) People’s Matching contribution for Aid, Rehabilitation and Emergency Support
(3) Prime Minister's Citizen Assistance and Relief in Emergency Situations Fund

4) Personal Monetary Contribution and Response to Effective Services

FIEE — 19 1 AT FA =+ Terw, wameE 4 (fon Sa8) %3 i T # 2 | 3w 7w AW 2

(1)  wizH e oo, vgee, THiisza Ug vigme auie w3
(2)  uem afEm HizsgmE B U, Uz THTSH T
(3) ey Wi WEER e vz fEE sw ooee) e wos

(4)  TEAE ez HireE v e 7 EEea afEew

[Question ID = 2648][Question Description = Q23_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10589]
2. 2 [Option ID = 10590]
3. 3 [Option ID = 10591]
4. 4 [Option ID = 10592]

24 : ; i : : :
) Which Five Year Plan focused on ‘Growth with Social Justice and Equality™
(1) Ninth Plan (2) Seventh Plan
(3) Eighth Plan (4) Sixth Plan

H | O= adiE G WIS = S G % iy S 9 ae gl 2

(1) = == (2) =
(3) =l T (4) = A=

[Question ID = 2649][Question Description = Q24_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10593]
2. 2 [Option ID = 10594]
3. 3 [Option ID = 10595]
4. 4 [Option ID = 10596]

25) In which year Transgender Persons (Protection of Rights) Act was introduced?
(1) 2019 & 2007
3y 9018 4y 2090



TS SAFG (ATTRE T FE) S e e e T an?

(1) 2019 (2) 2017

(3) 2018 (4) 2020
[Question ID = 2650][Question Description = Q25_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10597]
2. 2 [Option ID = 10598]

3. 3 [Option ID = 10599]
4. 4 [Option ID = 10600]

26) What does the acryonym ‘ASHA’ mean?

(1) Accredited Self Heal Activist

(2) Accredited Social Health Activist

(3) Assoclated Social Health Attendant

(4) Authorized Subordinate Health Assistant
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[Question ID = 2651][Question Description = Q26_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10601]
2. 2 [Option ID = 10602]
3. 3 [Option ID = 10603]
4. 4 [Option ID = 10604]

27)  Which among the following was the special programme launched in 2013 to address the

major causes of mortality among women and children in India?

(1) Rastriva Bal Swasthya Karyvakram (RBSK)

(2) Janani Shishu Suraksha Karyvakram (JSSK)

(3) Reproductive, Maternal, Newhborn, Child and Adolescent Health (RMNCH+A)
(4 Rashtriyva Kishor Swasthya Karvakran (RESK)

TTEEATHAl SN ST F 9ed T % UHE HEO0 F GETEE 0 S § R 1 e w2013 § aRe
LRI

(1)  TYF o =R FEE (A & wm F)

(2) T Tor) R A (F UH UE F)

(3) Trsfea, g, =aF, 91503 U0 USEE 209 (9 UH U9 Hl vE + )

(4) T e e FEEE (AR F T F)

[Question ID = 2652][Question Description = Q27_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10605]
2. 2 [Option ID = 10606]
3. 3 [Option ID = 10607]
4. 4 [Option ID = 10608]

28) “....poverty brings about frequent and intense experiences of uncontrollability;

uncontrollability produces helplessness. which causes the depression. passivity., and
defeatism to often associated with poverty”. Who wrote this statement?

(1) Noal Harari (2) Faucoult
(3) Seligman (4) Amartyasen
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[Question ID = 2653][Question Description = Q28_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10609]
2. 2 [Option ID = 10610]
3. 3 [Option ID = 10611]
4. 4 [Option ID = 10612]

29)  social Policy in India has been specifically enunciated in ————— of the constitution.
(1)  Part1I (2) Partl
(3)  Part III (4) Part TV
A o "I AH A GiEEE F H =2 =9 § fEim & 2
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(3) WA (4) wmEw

[Question ID = 2654][Question Description = Q29_SocWork_SHAAN_0521_S2_Shift1]

1. 1 [Option ID = 10613]
2. 2 [Option ID = 10614]
3. 3 [Option ID = 10615]
4. 4 [Option ID = 10616]

30) National Institute of Social Defense 1s functioning under the Ministry of

(1 Defence (2) Social Justic and Empowerment

(3) Home Affairs (4) Health and Family Welfare
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[Question ID = 2655][Question Description = Q30_SocWork_SHAAN_0521_S2_Shift1]

1. 1 [Option ID = 10617]
2. 2 [Option ID = 10618]
3. 3 [Option ID = 10619]
4. 4 [Option ID = 10620]

31)  Social capital is a set of ——— that allows individuals to work together in a group to

effectively achieve a common purpose.

(1) shared resources (2) shared values
(3) shared experiences (4) shared network
ot gt v T 2 S A R v w3 W w0 ¥ e wn o
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[Question ID = 2656][Question Description = Q31_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10621]
2. 2 [Option ID = 10622]
3. 3 [Option ID = 10623]
4. 4 [Option ID = 10624]



32)  How many disabilities are listed under RPWD Act. 20167

(L 4 @ 7
(3) 11 4 21

AR, 9. To. F.7%2, 2016 F A= el FEan gemg i i A7

(1) 4 @ 7
(3) 11 4 21

[Question ID = 2657][Question Description = Q32_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10625]
2. 2 [Option ID = 10626]
3. 3 [Option ID = 10627]
4. 4 [Option ID = 10628]

33)  Find the odd term out with regard to training

(1) Job rotation (2) Apprenticeship
(3) Understudy (4) Job Specification
TfeeTor % Here 4 fetened @ ® = we H e |
(1) s e (2) e
(3) = =S (4) e TR

[Question ID = 2658][Question Description = Q33_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10629]
2. 2 [Option ID = 10630]
3. 3 [Option ID = 10631]
4. 4 [Option ID = 10632]

34)  Find the odd term in the following.

(1) Strike (2) Lockout
(3) Picketing (4) Gherao

FfeAfigs 8 & 99 552 i 30
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[Question ID = 2659][Question Description = Q34_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10633]
2. 2 [Option ID = 10634]
3. 3 [Option ID = 10635]
4. 4 [Option ID = 10636]

35)  Which is the latest round of National Family Health Survey (NFHS) conducted by Ministry
of Health and Family Welfare?

(1)  NFHS-3 (2005-06) (2) NFHS-4 (2015-16)
(3)  NFHS-5 (2019-20) (4) NFHS-6 (2020-21)

TS Ud TN a1 G g Balierd Adiad T8 s Taau i a1 2 v

(1) TH. . 7=, wE — 3 (2005 — 06) (2) T TF. TE. TH. — 4 (2015 — 16)
(3)  TA. UF. TH. TH — 5 (2019 — 20) (4) A T, TE, UH — 6 (2020 — 21)

[Question ID = 2660][Question Description = Q35_SocWork_SHAAN_0521_S2_Shift1]
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36)

1 [Option ID = 10637]
2 [Option ID = 10638]
3 [Option ID = 10639]
4 [Option ID = 10640]

An approach which involves meticulous study. analysis. diagnosis and planning for the
intervention to be undertaken by the social workers working with families 1s called as

(1) Intensive family preservation approach
(2) Strategic intervention

(3) Emotion focussed intervention

(4) Psychotherapeutic intervention
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(3)

i AR SRS (2) HHITE =EET
Mg (@) TR

[Question ID = 2661][Question Description = Q36_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10641]
2. 2 [Option ID = 10642]
3. 3 [Option ID = 10643]
4. 4 [Option ID = 10644]

37)

When did CSWB conceptualize the concept of ‘Family Counselling Centre'?

(1) 1968 @ 1976

(3) 1980 4) 1994

=, v, Zeeg. &, 3 ufEw wme ) i S 1 ae e e

(1)

(3)

1968 (2) 1976

1980 (4) 1994

[Question ID = 2662][Question Description = Q37_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10645]
2. 2 [Option ID = 10646]
3. 3 [Option ID = 10647]
4. 4 [Option ID = 10648]

38)

Identifying and utilizing social cues to make judgements about social roles. rules.

relationships, context, or the characteristics of others is called as

(1) People's observation
(2) Social perception
(3) Person’s interpretation

(4 Societal exploration
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[Question ID = 2663][Question Description = Q38_SocWork_SHAAN_0521_S2_Shift1]

1. 1 [Option ID = 10649]
2. 2 [Option ID = 10650]
3. 3 [Option ID = 10651]
4. 4 [Option ID = 10652]

39)

Social Sciences but the need of training social workers in India was recognised as early as in

1923 by

(1) Social Service League
(2) Servants of Indian Society
(3) Haryan Sewak Sangh

(4) Central Social Welfare Board

aqTs wE % 7o faeneE i T 1936 § g5 S A9 7 sieege wF A9 Aisas § w9 5 A6 S| 2

fF 1923 ° # uWa  TEAF FEHAIE F T H SAETaRa F FEE g T 7w i

(1) oo 9= &
(2)  |deH ATF 3i5TA GrEEA

(3) =R TaF 9

(4)  Hze WIS SR @15

The first school of soecial work was established in 1936 which 13 now known as Tata Institute of

[Question ID = 2664][Question Description = Q39_SocWork_SHAAN_0521_S2_Shift1]

1. 1 [Option ID = 10653]
2. 2 [Option ID = 10654]
3. 3 [Option ID = 10655]
4. 4 [Option ID = 10656]

40) Moplah rebellion movement did happen in

(1) Bengal
(2) Bihar

(3) Kerala
(4 Punjab

Aol faeia sTeie Faf gan ar?
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[Question ID = 2665][Question Description = Q40_SocWork_SHAAN_0521_S2_Shift1]

1. 1 [Option ID = 10657]
2. 2 [Option ID = 10658]
3. 3 [Option ID = 10659]
4. 4 [Option ID = 10660]

41)  Ernest Green wood has advocated ‘attributes of social work profession’

(A) Systematic body of knowledge
(B) Professional authority

() Social or Community Sanction



(D) Regulatory Code of Ethics.

Choose the most appropriate answer from the options given below :
(1) (A) and (B) only

(2) (A (B)and (C) only
(3)  (B). (C) and (D) only
4 @A) (B).(C)and (D)

(A) geattEm =
(B)  =HEETE® EaEE

(C)  HMEI== 3 WHEEF =HiHhd

[ k. s b
I

(D) A AR HiE

Hr= fou v faseai | 9 9E 3 %1 =59 i
(1) =& (A) 311 (B)

(2)  #AEd (A). (B) #E (C)

(3) = (B). (C) #T (D)

4 (A (B). (C) 3 (D)

[Question ID = 2666][Question Description = Q41_SocWork_SHAAN_0521_S2_Shift1]

1. 1 [Option ID = 10661]
2. 2 [Option ID = 10662]
3. 3 [Option ID = 10663]
4. 4 [Option ID = 10664]

42) Which among the following pairs are correctly matched?

(A) Abe bodied poor —  Jail & Work
(B) Impotent poor —  Work houses
(C) Dependent children —  Apprenticeship

Choose the most appropriate answer from the options given below :

(1) (A) and (B) only
(2) (B) and (C) only
(3) (A) and (C) only

(40 (A). (B) and (C) only
Feferfiga & & w79 =1 sl e gam 27

(A)  F=ZFE FE9 - FEPm v Fm

(B) e FEA - FEwme



(C)  wnfsm a== - wogg

e &u TTu fahedi |# 9 weE S9gEd 39 H 994 A

(1) =39 (A) 577 (B)
(2)  FAd (B) 37 (C)
(3)  Fa4 (A) 371 (C)

(4)  F== (A). (B) 311 (C)

[Question ID = 2667][Question Description = Q42_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10665]
2. 2 [Option ID = 10666]
3. 3 [Option ID = 10667]
4. 4 [Option ID = 10668]

43) The understanding of Feminist theory plays an important role in social work practice.Who were
described as ‘man haters’ by critics ?
(A) Liberal feminist
(B) Radical feminist
(C) Socialist feminist

(D) Marxist feminist

Choose the most appropriate answer from the options given below :

(1) (A) only
(2) (B) only
(3 {A) and (B) only

(4) (C) and (D) only

TaEl fagra #1 Aaaias ames F4 99en § UF Aeeyn quw w1 Gde w21 snerss ge
o gt e T R Y

{AJ dﬂ'I :H]'.\]’:”J.I

(B) ez AREm

(C)  Tgm=a@ FiEm

(D) H QH'EI : ;”i‘q'ﬁ'
Hrr Tou, 7w faseat @ o He 3UgHE I H =9AA i

(1) =7 (A)
(2)  Fa4 (B)
(3)  FES (A) 31 (B)

(4)  =ae (C) 3R (D)

[Question ID = 2668][Question Description = Q43_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10669]
2. 2 [Option ID = 10670]



3. 3 [Option ID = 10671]
4. 4 [Option ID = 10672]

44) " Which of the following are the content theories of work motivation?

(A) Alderfer's ERG theory
(B) Hertzberg's two factor theory
(C) Maslow’s theory of needs hierarchy

(D)  Porter and Lawler's performance satisfaction theory

Choose the correct answer from the options given below :
(1) (A). (B) and (D) only
2y (A).(C)and (D) only
(3} (B). (C) and (D) only
(40 (A). (B) and (C) only

Freafeafad 5 | %E - AT & 9T A Ha 2 Y

(A) TESE W T wW. S fagE

(B)  FesE o fgHeeh g

(C)  Hitetla = AETIHAI-TEHFA Hg

(D) e FF SR e -ghe fagE

Jr= fou v famedt § | wE IR F =S A

(1)  F9 (A), (B), 31 (D)
(2)  FA9 (A). (C) #T (D)
(3)  Fa= (B). (C) = (D)

(4) == (A). (B) 3T (C)
[Question ID = 2669][Question Description = Q44_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10673]
2. 2 [Option ID = 10674]

3. 3 [Option ID = 10675]
4. 4 [Option ID = 10676]

£ ]

45)  What are the essential characteristics of tribal communities?
(A) Primitive Traits
(B) Geographical isolation
(C) Distinet culture
(D) Shy of contact with community at large

{E) Economiecally backwards

Choose the correct answer from the options given below :

(1) (A). (B). (D) & (E) only



(2) (A). (B). (C) (D) & (E)
(3) (B). (C), (D) & (E) only

(4) (A). (B). (C) & (D) only

(&)  wieE wEm

(B)  WFlier mee

(C)  Tafere FeF

(D)  =EESE @EEE H §E 9 @6

(E) e fiesmm

S fou o faedi 3 @ = 3 w1 === Hib
(1)  #a= (A). (B). (D) 371 (E) (2)  (A). (B). (C). (D) 3 (E)

(3) === (B). (C). (D) =1 (E) (4) == (A). (B). (C) #1 (D)

[Question ID = 2670][Question Description = Q45_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10677]
2. 2 [Option ID = 10678]
3. 3 [Option ID = 10679]
4. 4 [Option ID = 10680]

46 : z ; :
) Diagnostic approach to social case work practice focuses on

(A) Individual Pathology
(B) Organismic Theory
(C) Helping Process
Choose the most appropriate answer from the options given below :
(1) (A) only
(2) (B) only
(3) (A) and (B) only
(4) (B) and (C) only
IO 9 T Hig20 1 HeFeTF 30 R o erm Hiead Fea 27
(A) = % WEaEE W
(B) SEE foga m

(C)  T=EFF T W

Frer fam o fame 8 @ weE I9gE I T A

1% N 1. T



(2)  =a= (B)
(3)  Fa4 (A) 31 (B)

(4 A= (B) #77 (O)
[Question ID = 2671][Question Description = Q46_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10681]
2. 2 [Option ID = 10682]

3. 3 [Option ID = 10683]
4. 4 [Option ID = 10684]

47) “Transference’ is

(A) Conscious or unconscious feelings and attitudes that arise during interaction with

client
(B) Unconciously remind of others and relating to individuals
(C) Transfer elements of attraction or repulsion
(D)  Liking and disliking occurs in a planned manner

(E) Client reacts Inappropriately with excessive or distraught feeling

Choose the correct answer from the options given below :

1y (& (B). (D) & (E) only
2 (A).(C). (D) & (E) only
(3} (B).(C), (D) & (E) only
4 (A).(B).(C) & (E) only

SR #
(A) T T A=A WA R st e F e e e i sEty 1 sem e 2

(B) =5 3R =hAl & #eed TR o g

(C) /T =1 TaaevT % Aed 1 LT |

(D)  wHwE HAN A9E= UF oG @ § B 7 |

(E)  =andi sreafas =1 3fgn wmane & @19 #9994 21 O Tiaisan #a F |

dr fou o famedt 8 @ wE IR 1 = A

(1) %= (A). (B). (D) 31 (E)
(2)  FAF (A). (C). (D) 3 (E)
(3)  Fa= (B). (C), (D) 31 (E)

(4) T (A), (B), (C) # (E)

[Question ID = 2672][Question Description = Q47_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10685]
2. 2 [Option ID = 10686]
3. 3 [Option ID = 10687]
4. 4 [Option ID = 10688]

48)  Which among the following are the characteristics of urban community?



(A) small size

(B) high density of population
(C) homogeneity

(D) anonymity

(E) mobility

Choose the correct answer from the options given below :
(1) (A). (B). (C) & (D) only
(2) (A). (B). (D) & (E) only
(3) (B). (D). & (E) only
(4) (A). (B). (C) (D) & (E)
Bt & 7 R T T A S S
(A) =9 AR
(B)  F@EEE # 394 99
(C)  =EFEl
(D) A=A

(E) e tter

4 fou e fasedl § @ WA T w0 95 Fiee

(1) == (A). (B). (C) 31 (D)

(2) =& (A), (B). (D) #T(E)

(3) === (B). (D) 3 (E)

(4)  (A). (B). C). (D) =i (E)
[Question ID = 2673][Question Description = Q48_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10689]
2. 2 [Option ID = 10690]

3. 3 [Option ID = 10691]
4. 4 [Option ID = 10692]

49)  Which of the following concepts and issues are frequently referred in Paulo Freire's writings?

(A) Critical consclousness
(B) Oppression
(C) Banking concept of education

(D) Eduecation as Praxsis

Choose the most appropriate answer from the options given below :

(1) (A) and (B) only
(2) (A). (B) and (C) only
(3) {A). (B). (C) and (D)

(4) (D) and (A) only



31 0 = ol H O HEENET H " TR AG9EIET JE HEEl i S -a0 38 A TE R Y

(A)

(B)

(C)

(D)

AHTEAEATF =61
THA

AT (W) =9 1 foe

H= fou o faedi 4 @ TeE 395 ST F =EA AT

(1

(3)

(4)

FaS (A) 37 (B)
Fae (A). (B) 31T (C)
(A). (B). (C) 37 (D)

Fae (D) 3R (A)

[Question ID = 2674][Question Description = Q49_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10693]
2. 2 [Option ID = 10694]
3. 3 [Option ID = 10695]
4. 4 [Option ID = 10696]

50)

Which of the following is correct about Gandhi's classic text "Hind Swaraj™?

(A) The original text i3 In Gujarati

(B) First published in the columns of the Indian Opinion

(C) Written during return voyage from London to South Africa
(D) Written during the voyage from India to London

(E) It was an answer to the Indian School of violence

Choose the correct answer from the options given below :

(1) (A). (B). (C) (D) and (E)
(2) (A). (B). (C) and (D) only
(3) (A). (B). (C) and (E) only

(4) (B). (C). (D) and (E) only

st 1 g Fi0 o w=ow ® wn A it § O w9 9 % a6 27

(&)

(B)

(<)

(D)

(E)

T Wi AT H 2 |

Tl Teel SisdH A & T o T 5t |

A § Ztem sefiem it aoe T T+ SR fot
qWF | e F Aggl A F T ot mE)

44 fzu o famweai § | 59 3 w0 99 i

(1)

(A). (B). (C). (D) 3R (E)



(2) == (A). (B). (C) #i (D)
(3)  #a= (A), (B). (C) 3 (E)

(4)  Fa4 (B), (C). (D) 31 (E)

[Question ID = 2675][Question Description = Q50_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10697]
2. 2 [Option ID = 10698]
3. 3 [Option ID = 10699]
4. 4 [Option ID = 10700]

51)  Attribute is related to
(A) Qualitative variable
(B) Quantitative variable

(C) Constant

Choose the most appropriate answer from the options given below :

(1)  (A)only
(2) (4A) and (B) only
(3) (A) and (C) only

(4) (B) and (C) only
o (ufzeye) Foram Aetud w2 7
(A) TR =7
(B) HEATHE =1

() fom=

= f2u o foshei © @ TEE I9gE I R 9 HIAU

(1) a7 (A)
(2)  Fa9 (A) 31 (B)
(3) =ad (A) 37 (C)

(4) === (B) 3T (C)

[Question ID = 2676][Question Description = Q51_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10701]
2. 2 [Option ID = 10702]
3. 3 [Option ID = 10703]
4. 4 [Option ID = 10704]

52) Which among the following methods are used to ascertain whether two variables are

correlated or not?

(A) Scatter diagram method
(B) Graphic method

(C) Rank method



(D) Karl Pearson's coefficient of correlation

(E) Concurrent deviation method

Choose the most appropriate answer from the options given below :

(1) (A). (B) and (D) only
(2)  (C). (D) and (E) only
(3)  (A). (B). (C) and (D) only
4 @.(B).(C). (D) and (E)

ftetaa 9 9 e fafa=l =1 33w =2 o & # o e 5w 2, 7 9% 51 = Seestad & @ AE e
(A) Tt s fafa

(B) = fafg

(C)  =Hife fata

(D) T TS T HEEE TE

(E) @o=el fa=em fata
= fou, o fawedl § | e IvgE ST H =99 FHi

(1)  F= (A), (B). 51 (D)
(2)  Faw (C). (D) 3 (E)
(8) &« (A). (B). (C) 31 (D)
4 (A). (B). (O). (D) 3 (E)

[Question ID = 2677][Question Description = Q52_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10705]
2. 2 [Option ID = 10706]
3. 3 [Option ID = 10707]
4. 4 [Option ID = 10708]

53)  Which of the following have bheen incorporated in Foreign Contribution (Regulation) Amendment

Aect. 20207

(A) No foreign contribution shall be accepted by any public servant

(B) To prohibit any transfer of foreign contribution to any assoclation/person
(C) To increase the administrative expenses from fifty percent to sixty percent

(D)  To reduce the limit for defraying administrative expenszes from existing fifty percent to

twenty percent

(E) Empowering the Central Government to require Aadhar number, etc.. as identification

document

Choose the correct answer from the options given below :

(1) (A). (B). (C) and (D) only
(2) (A). (B). (C) and (E) only
(3) (A). (B). (C). (D) and (E)
(4 (A). (B). (D) and (E) only

fFrefatan 5 & #7 fad arem () s FeE, 2020 5 afEf w2



(A) Tl i SF-TaE & g HEE areE e T8 A e |

(B)  Taesh armEm = e o w9 /==t s

(C)  ToEEF =39 F T Tia9E ° deleh] 918 T el

(D)  Id9H TEHEEF = J9 F T=E Waed J sE Tihqed a9 =92 |

(E) == THOA % &Y § e WOhE g1 SR e 50910 ol SEvEhal i A |

H19 fou U el | @ 9E 3 =g i

(1) == (A). (B). (C) #it (D)
2) = (A). (B). (C) 31 (E)
(3) (A (B). (C). (D) 3T (E)
4 Fa9 (A), B). (D) 51 (E)

[Question ID = 2678][Question Description = Q53_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10709]
2. 2 [Option ID = 10710]
3. 3 [Option ID = 10711]
4. 4 [Option ID = 10712]

54) — isuseful In averaging ratios and percentages and in computing average rates of

increase or decrease.

(A) Median

(B) Mode

(C) Geometric Mean
(D) Harmonic Mean

(E) Arithmetic Mean

Choose the correct answer from the options given below :
(1) (A) and (B) only

(2) (B) and (C) only

(3) (C) only

(4) (D) and (E) only

FATA W ATt w1 A e o ofiEe 30 9 ghg @ FE H e e A

It BT R |
(A)  TTEEE
(B) wEEE

(C)  "oTieat wrex
(D)  =ea® "

(E) =9 91

4= f2u 7o fawe 8 | wE 39 6 =Ea e

(1)  =ad (A) 377 (B)
(2) == (B) 310 (C)

3) Fa= (C)



(4)  Faw (D) s (E)

[Question ID = 2679][Question Description = Q54_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10713]
2. 2 [Option ID = 10714]
3. 3 [Option ID = 10715]
4. 4 [Option ID = 10716]

55) A Learning Organization
(A) facilitates the learning of all its members

(B) continuously transforms itself

(C) has the capacity to learn and unlearn

Choose the most appropriate answer from the options given below :

(L (A) only
(2) (B) only
(3) (A) and (B) only

49 (A).(B)and (C)

TF A A (AT STAETE ) -

(A) o =i FEEn A F gEe TEE # 7
(B) ™A I T A5 F 7

(C) ¥ T A1 5T A AW F e A 2

Fr= fou o fawew © O Te 9T I A =9 Fiew
(1)  F=a Q)

(2) e (B)

(3)  ad (A) #H (B)

(4) == (A), (B) 3 (C)
[Question ID = 2680][Question Description = Q55_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10717]
2. 2 [Option ID = 10718]

3. 3 [Option ID = 10719]
4. 4 [Option ID = 10720]

56) Choose the correct statements with regard to International Labour
Organisation (ILO)

(A) The ILO became the first specialized agency of the UN in 1946 only
(B) ILO is the only tripartite agency of UN

(C) India 1s a founder member of ILO

Choose the most appropriate answer from the options given below :



(1)

(A) and (B) only

(2) (B) and (C) only

(3) (A) and (C) only

(4  (A). (B) and (C) only
IeoRISET 5 Taod (375, U, 37) F Tmra 9 7E FuF g
(A) A, Ue. #A. 1946 § & TE UY 69 I Tel (e A o4 |
(B) s, U, #1. T9%d U T F UHAE H0aE Atae 2 |
(C) WA 5. UH. Hl. 1 U HEI0H T2ET 7 |
dra fou o fapent § @ wEE IugFd S H =9I HIA
(1) & (A) IR (B)
(2)  =ad (B) 3 (C)
(3)  =HaE= (A) HT(C)
@ (A ® (O

[Question ID = 2681][Question Description = Q56_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10721]
2. 2 [Option ID = 10722]
3. 3 [Option ID = 10723]
4. 4 [Option ID = 10724]

57)

Which among the following are included in the constitution as fundamental duties?

(A)
(B)
(€
(D)
(E)

To respect the national flag

To educate everyone

To cherish our national ideals which inspired our national struggle for freedom
To uphold unity and integrity of India

To develop scientific temper

Choose the correct answer from the options given below :

(1
(2)
(3)
(4)

(A). (B) and (C) only

(A). (C). (D) and (E) only
(B), (C). (D) and (E) only
(A), (B), (D) and (E) only

et 5 3 i 7 o 5 e A et 27

(A)
(B)
(©)

(D)

wefi = forfeE e

FHR TEHA AR F HHFAT foleglel Fa-a1 =d #91 TU Sa™ H1 ufE

- e .



(1) =3l {Jid =6l Td+ET =R |

I f2u U famem 9 3 W I W =9 e
(1) == (A). (B) 511 (C)

(2) == (A). (C). (D) ¥ (E)

(3) === (B), (C), (D) #1 (E)

(4)  Fa (A), (B), (D) 31 (E)

[Question ID = 2682][Question Description = Q57_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10725]
2. 2 [Option ID = 10726]
3. 3 [Option ID = 10727]
4. 4 [Option ID = 10728]

58) 'Beti Bachao Beti Padhao’ is a campailgn by

(A) Ministry of Women and Child Development
(B) Ministry of Health and Family Welfare

(C) Ministry of Human Resource Development / Education

Choose the correct answer from the options given below :

(1) (A only
(2)  (B)only
(3) (B) and (C) only

(49 (A).(B)and (C)

T2 =TT, WA Ul ... & UH AAEE E

(A)  Hieo U9 9 (e meeE
(B) TS UF URAN FHeal B

(C) =3 "EA W /e g=ne

=9 f2u o fawe 8 | WA 39 0 =EA A
(1) == (A

(2) ¥4 (B)

(3)  F== (B) 3% (C)

4  (A), (B) W (C)

[Question ID = 2683][Question Description = Q58_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10729]
2. 2 [Option ID = 10730]
3. 3 [Option ID = 10731]
4. 4 [Option ID = 10732]

59)  Which among the following elements are not assoclated with ‘Job analysis™



(A) Human Behaviour

(B) Human Requirements

(C) Machines, tools and equipments
(D) Carreer management

(E) Human Engagement

Choose the correct answer from the options given below :

(1) (C)and (D) only
(2)  (C). (D) and (E) only
(3) (D) and (E) only
(4)  (A). (D) and (E) only

freferfaa & & Fi7 @ a1 FE-favemn @ wafaa 76 27
(A)  #FE =R

(B)  THE AETIRATY

(C)  wi, ou il T

D) FAI mEg=

(E)  =9MF ST

I fau T fawem 5 9 w9 3w =99 i
(1)  =a= (C) 3k (D)

(2) A4 (C), (D) ¥ (E)

(3) F== (D) #R (E)

(4)  Faa (A), (D) = (E)

[Question ID = 2684][Question Description = Q59_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10733]
2. 2 [Option ID = 10734]
3. 3 [Option ID = 10735]
4. 4 [Option ID = 10736]

60) Neonatal mortality is still high in India due to

(A) Unsafe newborn practices
(B) Poor safe motherhood care practices

(C) Institutional deliveries

Choose the most appropriate answer from the options given below :

(1) (A) and (C) only
(2) (B) and (C) only
(3) (A) and (B) only

49 (A).(B)and (©)



e ® | 59 ®A °§ 9RG § Faea geget o ff 3= 27

(A)  Adea T IERaTa g

(B)  HiHa wIgea sEwie Al i we et

(Cy  H&urE 75

e fom T fawedi 4 @ wsE S9gEd I H1 99 HIA
(1)  #a= (A) # (C)

(2) %A= (B) #1 (0)

(3)  Fa (A) 317 (B)

@  (A).(B) I (C)
[Question ID = 2685][Question Description = Q60_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10737]
2. 2 [Option ID = 10738]

3. 3 [Option ID = 10739]
4. 4 [Option ID = 10740]

61) (CSWB has started counselling centres exclusively for devadasis and sex workers in

(4  Mumbai
(B) Kolkatta
(O Chennai
(D) Belagawvi

(E) New Delh1

Choose the correct answer from the options given below :

(1)  (A). (B) and (C) only

(2)  (A). (B), (C) and (E) only

(3) (A) and (D) only

(4) (A (B). (C). (D) and (E)
T T A, 5 e B s e e e T
for 27
A =

(B)  HreHET

(C) ==
(D)  s=EFTE
(E) i fz==h

= 20 U T § | wE 39 W =9 R

1) == (A). (B) 37 (C)

(2)  FaE (A). (B). (O) *1 (E)



(3) A (A) 317 (D)

4 (A, ®), ©). (D) = (E)

[Question ID = 2686][Question Description = Q61_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10741]
2. 2 [Option ID = 10742]
3. 3 [Option ID = 10743]
4. 4 [Option ID = 10744]

62) Mention the commissions which fall under Ministry of Social Justice and Empowerment

(A) National Commission for Scheduled Castes
(B) National Commission for Backward Classes
(C) National Commission for Safai Karmachari

(D) National Commission for Denotified Nomadic and Semi nomadic Tribes

Choose the most appropriate answer from the options given below :
(1) (A) and (B) only
(2) (A) and (C) only
(3) (A). (B) and (C) only
4) (A). (B). (C) and (D)
(A) TR S S
(B) g fomst = s
(C)  TTE/ T FEAW AT

(D) T¥E fauwE va AdEEE S S

= feu o fawem § 9 TE 3 F =99 FirEn

(1)  aa (A) 31 (B)
(2)  Fa (A) R (C)
(3) I« (A), (B) 3 (C)

4 (A).(B). (C) #W (D)

[Question ID = 2687][Question Description = Q62_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10745]
2. 2 [Option ID = 10746]
3. 3 [Option ID = 10747]
4. 4 [Option ID = 10748]

63) Which amongst the following are not the characteristics of Democratic Socialist model of

development?
(A) development through the securing of socialist goals by using democratic means
(B) development through the securing scolalist goals by using autocratic means

(C) the planning and policies are spontaneously imposed on people



(D)  organised planning iz followed

(E) democratic processes of politics are adopted

Choose the correct answer from the options given below :

(1) (A). (B), (C) and (D) only
(2) (A). (C) and (D) only

(3)  (B).and (C) only

(4) (A). (D) and (E) only

TfeTiaa | 5 &1 o1 T & AaTi=— SRTeTael T i eemars 951 7 7
(A)  FTRAT=ER TR F T 8 SIS A2 1 Wit & ge s

(B) TE=gmEnl qiFhi % T A GAEE] 41 i itd & g e

(C) s 3 it = o w6 AW 2 |

(D)  @ied ferdiete @1 9 oA = E |

Jr fow o famedi 6 | WE S 1 wEA i

(1)  FaF (A). B). (C) 3T (D)
(2)  F= (A). (C) 3iF (D)

(3) = (B) 3 (O)

(4)  F= (A). (D) 3T (E)

[Question ID = 2688][Question Description = Q63_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10749]
2. 2 [Option ID = 10750]
3. 3 [Option ID = 10751]
4. 4 [Option ID = 10752]

64)  As per the provisions of Child Marriage Act 2006, the “child” means

(A) If male. one who has not completed 21 years of age
(B) If female. one who has not completed 18 years of age
(C) Any person who has not completed 21 years of age

(D) Any person who has not completed 18 years of age

Choose the correct answer from the options given below :
(1)  (A)only
(2)  (C)only
(3) (D) only

(4) (A) and (B) only
e -faame fva FA, 2006 F sHEW oo 7w F oY 2

(A) R TETE A - 7% 21 99 @ FH AG WA |



(B) PN HfEen 2 - 9% 18 99 § FH Hg * 7 |

(C) 21 a9 & =8 3G +1 His i =4fF |

(D) 18 a9 @ F5 A F1 FiE o =i |

Hr fou e fashed B @ HWEl 3 6 95 Hiae

(1) T (A)

(2) a7 (C)

(3) F= (D)

(4) === (A) 31 (B)

[Question ID = 2689][Question Description = Q64_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10753]
2. 2 [Option ID = 10754]
3. 3 [Option ID = 10755]
4. 4 [Option ID = 10756]

65)  The focus of Residual Model of Social Policy is

(A)
(B)
(©)
D)
(E)

Government support for people’s well being as a safety net

Poor people are helped through various programmes run by Government
People make arrangements for their own well being

The well being of poor is of least importance

The wealthy persons are bound to help the people in need

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(A) and (B) only
(A) and (C) only
(A), (C) and (D) only

(B) and (E) only

AT i S TEH (H1se) F e 6 B 7

(A)  TF A g FY H AT % oA & [0 qrhi AR

(B)  ©TFW % g HETed A9 FEEEl F AETE 9 s 1 SR |

(C) & == 6 QUGN 7q = F4 A

(D) T S griETel AR FH FEeAT 2 |

(E) o1 =1f3a S=ta9= = #i Tema F4 F =0 5 2

H= T5u U el B | w9 3 w1 =E R

(1) === (A) 311 (B)

(2) A (A) #:E(C)

(3)  #Fad (A). (C) 3 (D)



(4) a1 (B) #H (E)

[Question ID = 2690][Question Description = Q65_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10757]
2. 2 [Option ID = 10758]
3. 3 [Option ID = 10759]
4. 4 [Option ID = 10760]

66) Nlatch List I with List II

List I List IT
(A) Narmadha Bachaco Andolan (Iy 1985
(B} Nirbhaya Movement (I), 2012
(C)  Jungle Bacho Andolan (IITy 1980
(D) Chipko Movement (IV) 1973

Choose the correct answer from the options give hleow :

(1) (A)-(IV). (B)-(IIL). (C)-(ID). (D)-(T)
2y (A-ID. B-D. (O)-II). (D)-IV)
(3)  (A)-UID. (B)-(IV). (C)-(D). (D)-(ID)
4 (A)-D. (B)-(ID. (O)-(IID). (D)-(IV)

=1 1 % =1y gt I e i
-1 Ti-11
(A)  THT = A D 1985
(B) ¥ s (I) 2012
(C) e wEEA AT (IIT) 1980
(D) T s (IV) 1973

H1= fou U faseTl | F w3 =999 i

(1) (A)-(IV). (B)A(ILD). (C)-(II). (D)-(I)
2) (A)-(ID). (B)-(I). (C)-(I1I). (D)-(IV)
(3)  (AID. (B)-(IV). (C)-D). (D)-(IL)
4 (A-O. B)-ID). (C)-IID). (D)-(IV)

[Question ID = 2691][Question Description = Q66_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10761]
2. 2 [Option ID = 10762]
3. 3 [Option ID = 10763]
4. 4 [Option ID = 10764]

67) Match List T with List T

ListI List IT
(A) Oectober 11 (I) International day for the eradication of poverty
(By October 15 (ITy World food day
(C) October 16 (ITT) International day of rural women

(D) October 17 (IV) International dav of girl child



Choose the correct answer from the options give below :

(1) (A)-(I). (B)-(II). (C)-(III). (D)-(IV)

(2) (A)-(IL). (B)-(I). (C)-(IV). (D)-(I1L)

(3) (A)-(III). (B)-(IV). (C)-(I). (Dy-(IL)

(4) (A)-(IV). (B)-(III). (C)-(ID). (D)~(T)

geit 1 % @y gt 11 =1 fHerm =it
71 1T
(A) 11 wEga (I)  FrgE T e foad
(B) 15 79z an fava == e
(C) 16 3wz (II) Fr=wrgra v Jteen e
(D) 17 #19gsn (IV) #A=AgE s 7=m

Hr fou o fashedl @ TE 3T B =5 HI

(1)
(2)
(3)
4

(A)-(I), (B)-(ID). (C)-(IIT). (D)-(IV)
(A)-(II). (B)-(I). (C)-(IV). (D)(III)
(A)-(IIO). (B)-(IV). (C)-(I). (D)-(IT)
(A)-(IV). (B)-(III). (C)-(IL). (D}-(I)

[Question ID = 2692][Question Description = Q67_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10765]
2. 2 [Option ID = 10766]
3. 3 [Option ID = 10767]
4. 4 [Option ID = 10768]

68) Match List I with List IT
List I List IT
(A)  Article 15 (I  Equality of opportunity in matters of public emplovment
(B) Article 16 (II) Right to constitutional remedies
(C)  Avticle 17 (III) Abolition of untouchability
(D)  Article 32 (IV) Prohibition of diserimination on grounds of religion. race.
caste. zex or place of birth
Choose the correct answer from the options give below:
(1) (A)-(I1T}). (B)-(II). (C)-(I). (D)-(IV)
(2) (A)-(IV). (B)-(I). (C)-(III). (D)-(IT)
(3 (A)-(T), (B)-(IT)., (C)-(IIT). (D)-(TV)
(4) (A)-(IT). (B)-(I). (C)-(IIL). (D)-(IV)
o1 % T g1 1 e i
-1 g-IT
(A) =7 15 (I) TS TR % g § 31=0T = GaEa
(B) =37 16 (II) =+ IT=E =1 AUwn
() 3F_1,T_fcv"f' 17 (II) #&goaal 1 IHH



(D) =37 32 (IV) o, 55, 91, o7 31 570 #2590 T
yraE # g

Hr fou o faeeei © | wE I w0 == i

1) (A)-(TIT), (B)-(ID). (C)-(T), (DH-(ITV)

@ (A)-aV). B)-D. (O)-ID). (D)-1D

(3) (A)-(I). (B)-(II). (C)-(III). (D)-(IV)

(4) (A)-(IT). (B)-(I). (C)-(III). (D)-(IV)
[Question ID = 2693][Question Description = Q68_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10769]
2. 2 [Option ID = 10770]

3. 3 [Option ID = 10771]
4. 4 [Option ID = 10772]

69) Match List I with List I

ListI List IT
{A) Review of social work Education in India : (I) 2005
Retrospect and Prospect
(B) Curriculum : Social work education (ITI) 2001
(C) NAAC Manual for self study (ITT) 1930

of social work institution

(D) Social work Education in Indian Universities (IV) 1965

Choose the correct answer from the options give below:

(1) (A)-(I). (B)-(IL). (C)-(III). (D)-(IV)
(2) (A)-(ITII). (B)-(II). (C)-(I). (D)-(IV)
(3) (A)-(I). (B)-(ILL). (C)-(II). (D)-(IV)
(4 (A)-(IT). (B)-(I1I). (C)-(IV), (D)-(I)

gl 1% =y gt I 1 W\ Fifae

o1 T 11
(A) Tr=g 17 T T TIRIA o SreAl (e U Wi (I) 2005
(B) THFem : WU T TIHIA (I) 2001
(C) . W U i (A7) H39T T UeE =S F U a5 (ITT) 1980
(D) W 9% UIHIE 3 359 JEAEEA (IV) 1965

H= fou U kel 9 © TR I R 99 AT

(1) (A)-(I). (B)-II). (C)-(III). (D)-(IV)

(2) (A)-(III). (B)-(II). (C)-(I). (D)-(IV)

{3) (A)-(T). (B)-(T1II). (C)-(IT). (Dy-(TV)

(4) (A)-(IT). (B)-(IID). (C)-(IV). (D)-(I)
[Question ID = 2694][Question Description = Q69_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10773]
2. 2 [Option ID = 10774]

3. 3 [Option ID = 10775]
4. 4 [Option ID = 10776]

70) Match List T with List IT

ListI ListII



(A) Exploratory ({I) Whyisit?

(B) Experimental (II) What 1= 1t?
(C) Descriptive (IIT) How to treat 1t?
(D) Diagnositic (TV) Howisit?

Choosze the correct answer from the options given below:

(1) (A)-(I). (B)-(IL). (C)-(III), (D)-(IV)
(2)  (A)(IID). (B)-(IV). (C)-(I). (D)-(II)
(3) (A)-(II). (B)-(I). (C)-(IV). (D)-(III)
(4)  (A)-(IV). (B)-(III). (O)-(ID). (D)-(D)

=1 I % =g g 11 = e =i
=1 F=i-11
(A)  HA=TEEE I =wdEiza?
(B) AT (ID) = 71 27
(C) =viTeH (ITT) =91 I9=1 & = Jm 7
(D) e IV) == F= 27

/= o e TEFeT 5 H HE I R =9 F

(1) (A)-(T). (B)-(II). (C)-(III). (D)-(IV)

(2) (A)-(III). (B)-(IV). (C)-(I). (D)-(II)

{3) (A)-(IT). (B)-(I). (C)-(IV). (D)-(ITIT})

(4) (A)-(IV). (B)-(IIT). (C)-(II). (D)-(I)
[Question ID = 2695][Question Description = Q70_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10777]
2. 2 [Option ID = 10778]

3. 3 [Option ID = 10779]
4. 4 [Option ID = 10780]

71)  Match List I with List IT

List I Tast IT
(American Context) {Indian Context)
(4) Community Organization (I)  Structural Change Model
(B) Locality Development Model (IT) Swvstem Change Model
(C) Social Planning Model (III) Neighbourhood Development Model
(D) Social Action Model (IV) Community Development Model

Choose the correct answer from the options given below:

(1) (A)-D). B)-{II). (C)-(III). (D)-(IV)
(2)  (A)-IV). (B)-(IID). (C)-(ID). (D)~(T)

(3) (A)-(IID). (B)-(IL). (C)-(D). (D)-(IV)



(4) (A)-(IL). (B)-(I). (C)-(III). (D)-(IV)

eI eh-I1
(smifehi 5a4) (v HeH)
(A) T T (I)  EE=HATeAT TiEd Jise
(B) T fa=m wise (IT) =g qiaas Hise
(C) mm+ fe=A Aise (ITT) 9= T wise
(D) = A Hige (IV) =g fa%m aisa

H Tou U faehedl 8 | | 3w == R

(1)
(2)
(3)

4

(A)-(D). (B)-(ID). (C)-(III). (D)-(IV)
(A)-(IV). (B)-(IID). (C)-(IL). (D)-(I)
(A)IID). (B)-II). (C)-(I). (D)-(IV)

(A)-(IT). (B)-(I). (C)-(IIT). (D)-(IV)

[Question ID = 2696][Question Description = Q71_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10781]
2. 2 [Option ID = 10782]
3. 3 [Option ID = 10783]
4. 4 [Option ID = 10784]

72)

Match List I with List IT

ListI List IT

Articles in the Constitution of India Description

(4A) Article - 38 (I) Duty of the state to raise the level of nutrition

(B)y Article - 41 (Il Promotion of educational and economic interests
of scheduled castes and other weaker section

(C) Aaxticle - 46 (ITI) State to secure a social order for the promotion of
welfare of the people

(D) Article - 47 (IV) Right to work to educate and to public assistance

in certaln cases

Choose the correct answer from the options given below:

(1) (A)-(D). (B)-(IT). (C)-(IIT}). (D)-(IV)
(2) (A)-(IT). (B)-(I). (C)-(IV). (D)-(ILT)
(3) (A)-(IID). (B)-(IV). (C)-(ID). (D)-(I)
(4) (A)-(IV). (B)-(III). (C)-(IL). (D)-(I)

gei1-1 & = gi-11 =1 e fifaw

(A)
(B)

(©)

(D)

T =11
=95 — 38 (1) 90 F =W A ARG T F w7
FTT - 41 (I1)  wgEa i 3 337 FE0 771 % A9 v ST
FTT - 46 (IIl) =T % Foam =+ TeAET 2d 759 g1 OF AT
FT=aT - 47 (IV) ¥z Ffvaa ufifeafea § folas #6 #1590 Tmis

H= Tou U faeal B 6 wE I R =AU

(1)
(2)
2%

(A)-D. (B)-(ID). (C)-D. (D)-aV)
(A)-IT). (B)-(D). (C)-(IV). (D)-(IIL)
(ANATITY (BT (OO (T T



Y e’ o iy AN | L.

(4) (A)-(IV). (B)-(ID). (C)-(ID). (D)-(I)

[Question ID = 2697][Question Description = Q72_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10785]
2. 2 [Option ID = 10786]
3. 3 [Option ID = 10787]
4. 4 [Option ID = 10788]

73) Match List I with List IT

List I List IT
(A) Genotype (I)  Person's genetic heritage
(B) Phenotype (I} Person's physical traits
(C) Cognitive (III) Changes in person’s interactions with other persons
(D) Soclo-emotional (IV) Mental activities associated with process of knowing

and experiencing

Choose the correct answer from the options given below:

(1)  (A-ID. B)-@. (C)-D). (D)-IV)
(2)  (A)-(ID). (B)-(II). (C)-(T). (D)-(IV)
(3)  (AIV). (B)-(II). (C)-(ID). (D)-(D)
(4)  (A)-D). (B)-(ID). (C)-(IV). (D)-(IID)

g1 % =y -1 = e i
i1 FHI-1I
(A) THREEY (I) =afwa =1 st e
(B) AT () =afFa % wter =am
(C) HSHTEF (IID) Tft =afda 6 o= ==t = @y o35 9 afeda
(D)  EHE - AT (IV) SHH 3R A998 0 il Ua1 3 H3 gHEE Tl

= oo e fawedi 6 1 A9 3 W =9me A

(L)  (A)-ID. (B)-(I). (C)-(III). (D)-(IV)
(2) (A)-(II). (B)-(ID). (C)-(D). (D)-(IV)
(3) (A)-(IV). (B)-(III). (C)-IT). (D)-(I)
(4) (A)-(I). (B)-(IT). (C)-(IV). (D)-(IIT)

[Question ID = 2698][Question Description = Q73_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10789]
2. 2 [Option ID = 10790]
3. 3 [Option ID = 10791]
4. 4 [Option ID = 10792]

74)  Match List T with List IT

List I List IT
(4) Brahmo Samaj (I) Swami Vivekanand
(B) Prathna Samaj (I) Sir Syed Ahmad Khan
(C) Ramkrishna Mission (IIT) Rammohan Roy
(D) Alhgarh Movement (IV) Atma Ram Pandurang

Choose the correct answer from the options given below:



(1)  (AD. B)-ID). (C)-III). (D)-(IV)
2y  (A-ID. B)-ID, (O)«IV). D)-1D)
(3)  (A)-IID. (B)-(IV). (O)-(I). (D)-(ID)
(4)  (A)-(IV). (B)-(III). (C)-(I). (D)-(IL)

gif-1 = @y g=i-11 1 foere Fife

T I T=HII
(A) E T @ = s
(B)  TTEAT HHTS (I) = H=ag ¥7=0g @i
(C) TmF fmvH (IIT) 79 97 7
(D) =T SR (IV) %R s

Hr= fou o fashedl § | @ 3 %1 == Rl

(1) (A)-(I). (B)-(IT). (C)-(IIT). (D)-(IV)

(2) (A)-(II). (B)-(III). (C)-(IV). (D)-(I)

(3 (A)-(III). (B)-(IV). (C)-(I). (D)-(II)

(4) (A)-(IV). (B)-(IIT). (C)-(I). (D)-(IT)

[Question ID = 2699][Question Description = Q74_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10793]
2. 2 [Option ID = 10794]

3. 3 [Option ID = 10795]
4. 4 [Option ID = 10796]

75)  Match List T with List II

List I Tast IT
Articles of Universal Declaration of Critical Motion
Human Rights
(A) Article 1 and 2 (I)  Civil and Political Rights
(By Article 3-21 (II) Human Dignity and Non-diserimination
(Cy Article 22-27 (III}) Economic. Social and Cultural Rights
(D) Article 28-30 (IV) Solidarity Rights

Choose the correct answer from the options given below:

(1) (A)-(I). (B)-(ILL). (C)-(II). (D)-(IV)
(2) (A)-(IL). (B)-(I). (C)-(III), (D)-(IV)
(3) (A)-(IT). (B}-(ITT). (C)-(I), (D)-(IV)
(4) (A)-(I). (B)-(IL). (C)-(III). (D)-(IV)

geiT-1 % | gei-11 =1 e Fifaw -
-1 Tt-11
(A) =37 1 37 2 (I) AFTEF v T AHE
(B) =% 3d 21 (IT) e JE R o %1 a9

(C) oH==s 221 27 (II) 374, AT U9 HFias AawR



(D) === 28 9 30 (IV) UHTeHan HAfah

9 fou o fawei 8 9 95 3 #7199 i

(1) (A)-(I). (B)-(III). (C)-(II). (D)-(IV)
(2) (A)-(IT). (B)-(T). (C)-(III). (D)-(IV)
(3)  (A)-ID. (B)-(III). (C)-(I). (D)-(IV)
4)  (A-D. B)-ID. (O)-dID). (D)-IV)

[Question ID = 2700][Question Description = Q75_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10797]
2. 2 [Option ID = 10798]
3. 3 [Option ID = 10799]
4. 4 [Option ID = 10800]

76)  In Erikson's pavchological theory. each stage is characterised by a particular psychological

conflict. Arrange the conflict as per life stage.
(A) Basic trust Vs Mistrust

(B) Ego identity Vs Role Confusion

(C) Autonomy Vs Doubt

(D)  Integrity Vs Despair

(E) Industry Vs Inferiority

Choose the correct answer from the options given below :

(D (A). (B). (). (D) and (E)
(2)  (A). (O, (E). (B) and (D)
(3)  (B). (A), (C). (E) and (D)
(4 (0. (A). B). (D) and (E)
Ui o AT EEr | U AT sHEmeE o F g Tk s Heda 1w 2

(A)  awyd Fvam s aEwEE
(B) =4 AT S YiEET §E
(C)  TamEaa &8 T

(D) == T == e

(E) =<8 5910 2FdT

419 fou U faeem A 9 T == =29 i

(1)  (A). (B). (C). (D) R (E)

2) (A (C). (E). (B) 7 (D)

3)  (B). (A). (C). (E) 31 (D)

4)  (C). (A). (B). (D) #1 (E)
[Question ID = 2701][Question Description = Q76_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10801]
2. 2 [Option ID = 10802]

3. 3 [Option ID = 10803]
4. 4 [Option ID = 10804]

77)

Avpanoe the followine leovelatinmne 11 enrrect chronoloosieal arder aeeordine to the vear af



0 T T I R W, < g e it R T T T S . | e ke et - et e el bl Dbkt ], & ket het i " ik

enactment.

(A) The Juvenile Justice (Case and Protection) Act
(B) The Narcotic Drug and Psychotropic Substance Act
(C) The Probation of Offenders Act

(D) The Protection of Children from Sexual Offences Act

Choose the correct answer from the options given below :

(1)  (A).(B).(C) and (D)
(2)  (B).(O). (D) and (A)
(3 (©).(B). (A) and (D)
(49 (D). (0. (B) and (&)

Fetetaa faam F  =r] 6 90 a9 99 F =598 Fews 1 satead Fir
(A) TR = (G U EeE) At

(B) TTF Sl ST T waE T satatm

(C) sy ofien sty

(D) = HAFTE H = R EE A

= fou U fareT @ O I R 99 A

(1) (A), (B). (C) 311 (D)
2y (B). (C). (D) 3 (4)
(3)  (C). (B). (A) #r (D)

4y (D). (C). (B) 3 (A)

[Question ID = 2702][Question Description = Q77_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10805]
2. 2 [Option ID = 10806]
3. 3 [Option ID = 10807]
4. 4 [Option ID = 10808]

78)  Arrange the phases of disaster management in an order of sequence.
(A) Mitigation
(B) Preparedness
(C) Response

(D) Recovery

Choose the correct answer from the options given below :

(1 @. 3. (C). D)

2  (B). &), (O). D)

Fisi% FTYS SN S AY ST



bl

(4

b S Yot M ST S

(A). (D). (B). (C)

ARV i fafiE sEnsti $1 avfi-#n § sateam Hire

(A)

(B)

(C)

(D)

~

F=md
TR

]

HHCAT

dr fou o e § ® 59 I A wEe Fiaw

(1)
(2)
(3)

(4

(A&). (B). (O). (D)
(B). (A). (C). (D)
(B). (C). (A). (D)

(A). (D). (B). (©)

[Question ID = 2703][Question Description = Q78_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10809]
2. 2 [Option ID = 10810]
3. 3 [Option ID = 10811]
4. 4 [Option ID = 10812]

79)

Uric Bronfenbrenner’s contextual view of development emphasises the role of environmental

factors in development of individual. Arrange the factors experienced by individual in the

process of his/her growing up.

(A)
(B)
(©
(D)
(E)

Exozystem
Macrosystem
Microsystem
Chronosystem

Mesosystem

Choose the correct answer from the options given below :

(1)
(2
(3
4

(C). (E). (A), (B) and (D)
(C). (B). (A). (D) and (E)
(B). (E). (C). (A) and (D)
(C). (D). (B). (A) and (E)

™ ) T o L C [ ot . T [ o x W 5 N =
i FEFTEEE 1 I W Gsmens e =i F S ° aaen geaedt wEw W A ol # |

=afad gRT A Tamra i Ul & GeT 39 g AN U S aTel I W AR S iedd it |

&)
(B)
©
(D)

(E)

wf: Jomert
g
BRI

T AT

T oo T e o © O == = =g T



1) (0. (B). A). (B) 57 D)

(2 (C). (B). (A), (D) 3% (B)

(3)  (B).(B).(C). Q) 3 (D)

4  (C). (D). (B). (A) 3% (E)
[Question ID = 2704][Question Description = Q79_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10813]
2. 2 [Option ID = 10814]

3. 3 [Option ID = 10815]
4. 4 [Option ID = 10816]

80)  Correct sequence of steps in H.H. Perlman’s problem solving model is
(A) Person
(B) Place
(C) Problem
(D) Process

Choose the correct answer from the options given below :
(1) (A). (B), (C). (D)
(2) (4. (C). (B). M
(3) (B). (A). (C). (D)

@  (B. . D). ©)

TS, T, Uedd o "G (a0 9isH § SO 6 g6 % 8 -

(A =
(B) ™=

(C)  =H=
(D) i

Fr= fou o fompedt § @ F IR w0 =EA Fifae

(1 A, [®B).(C). D)
2 A.(©C).®B). D)
(3 (B (A). (C). (D)
@  (B). &), [D).(©)

[Question ID = 2705][Question Description = Q80_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10817]
2. 2 [Option ID = 10818]
3. 3 [Option ID = 10819]
4. 4 [Option ID = 10820]

81) Arrange the following legislations relating to women in chronological order of enactment.

(A) Dowry Prohibition Act



(B) Indecent Represenation of Women Act
(C) National Commission for Women Act
(D) Equal Remuneration Act

(E) Medical Termination of Pregnancy Act

Choose the correct answer from the options given below :

(1 A @B, (C). D). (E)

(2)  (A). (E), D). B). (O

(3)  (E). (D). (A). (C). (B)

@ (D). (E). B). A).(©C)
afeest] § grEt-an FeteiEy F9E #1399 GO 24§ %4 § gt Fire
(A) =z vfaey At
(B)  AfzeneA F AvEa At sfatEm

(C)  T¥™ Hien AMEM At
(D)  HHHE TRAHEFE AT
(B) = fafrarm aame st

4= f2u T e 9 = HR I W 99 i

1L (A). B). (C), (D). (E)

2) (AL (E). D). ®B).(©C)

(3) (E). (D). (A). (©). (B)

@ (D). (E). B A). O
[Question ID = 2706][Question Description = Q81_SocWork_SHAAN_0521_S2_Shift1]
1 [Option ID = 10821]
2 [Option ID = 10822]

3 [Option ID = 10823]
4 [Option ID = 10824]

A WN -

82) Arrange the features of the preamble of Indian constitution in a sequential order.
(A) Sovereign

(B)  Secular

(C)  Socialist

(D) Democratic

(E) Republic

Choose the correct answer from the options given below :
(1) (&), (B). (O). (D). (E)

(2) (A). (©). (B). (D). (E)

(3) (A). (B). D). (O). (E)

4 (B). (C). (Av). (D). (E)

urdE gfaam #it weEE i e = Avieg w9 9 At i
(A) Y9¥9cd HYee



(B)

(©)

(D)

(E)

M

= f2u T e 8 = WA I W 9 A

(1)
2
(3
@

[Question ID = 2707][Question Description = Q82_SocWork_SHAAN_0521_S2_Shift1]
1 [Option ID = 10825]
2 [Option ID = 10826]
3 [Option ID = 10827]
4 [Option ID = 10828]

AW N =

83)

(A). (B). (C). (D). (E)
(A). (C). (B). (D). (E)
(A). (B). (D). (C). (E)
(B). (C). (A). (D). (E)

Arrange the following in correct sequence

(A) Formulation of the research problem
(B) Formulation of the hypothesis

(C) Formulation of the research design
(D)  Data collection and analysis

(E) Drawing inferences

Choose the correct answer from the options given below :

(L @), (B). (C). (E) and (D)
(2 (B).(C). (A). (D) and (E)
(3) (A). (B), (C). (D) and (E)
@ (B &), (C). (D) and (E)

(A)  FTIETGH FEE F

(B)  WEeTn W fAETm

(C)  “TFHa™ &uTFa H FHEam

(D)  si%s 7% vd favemm

(E) =\ A

= o o el |3 9 T8 I #9499 i
1) (A (B). (O). (E) = (D)

2 (B (O (A). (D) 3T (E)

3 (A ®B.(0). D) 3 (E)

@ (B (A. (0. (D) 3 (E)



[Question ID = 2708][Question Description = Q83_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10829]
2. 2 [Option ID = 10830]
3. 3 [Option ID = 10831]
4. 4 [Option ID = 10832]

84)  Arrange the following sustainable Development Goals serially.

(A) Zero Hunger

(B) Good Health and well being
(C) Gender Equality

(D) No Poverty

(E) Quality Education

Choose the correct answer from the options given below :

(1 (D). A). B). (E). (C)
(2 @).([B.(0). (E). (D)
(3) (D). ®B). (E). (C). (4)

@  (B). (). A). D). E)
TrAiira oaq fam @ea #1 Aoieee § satedd i,

(A) o EE

(B)  3T=a1 == 3T T
(C) ek FHma
(D)  fed=ar =1 A9

(E)  TTorammgel foe
= fau o fepea | @ wE I w0 =9I i

(1) (D). A). B).(E).©)

2 (4. B, (C). (E). (D)

(3 (D). B). (E). (C). (&)

4 (B). (C). (A). (D). (E)
[Question ID = 2709][Question Description = Q84_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10833]
2. 2 [Option ID = 10834]

3. 3 [Option ID = 10835]
4. 4 [Option ID = 10836]

85) Arrange the hierarchy of needs in a sequential order

(A) Social Needs

(B) Physiclogical Needs

(C) Self Esteem

(D)  Safety and Security Needs

(E) Self Actualization



Choose the correct answer from the options given below :

(1) (A). (B). (C). (D). (E)

2 (B). (D). (A).(0). (E)

(3 (B).(C). (A4). (D). (E)

@ (E). D). (C).(B). A)

AATTFAA F TEEHA Fl A0 FH § =ateyd firu:

(A)
(B)
(C)
(D)

(E)

(1
(2)
(3)

(4)

AT FEvIFaT

TSI ATEvaFan
HicH HHTH
3T g Savashan

en =g

U faFET § | WE I F 999 S

(A). (B). (C), (D). (E)
(B). (D). (A). (C). (E)
(B). (C). (A), (D). (E)

(E). (D). (C). (B). (A)

[Question ID = 2710][Question Description = Q85_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10837]
2. 2 [Option ID = 10838]
3. 3 [Option ID = 10839]
4. 4 [Option ID = 10840]

86)

Given below are two statements : one is labelled as Assertion A and the other is labelled as

Reason R

Ag

sertion (A):  Adolescents do not have high risk behaviour.

Reason (R) : Adolescence 1s a stage of developmental transition.

In

the light of the above statements. choose the most appropriate answer from the options

given below :

(1)
(2)
(3)

(4)

Both (A) and (R) are correct and (R) is the correct explanation of (A)
Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (4)
(A) is correct but (R) is not correct

(A) 1s not correct but (R) is correct

=1 %o faw v 2 ;v AawUT Assertion (A) % &9 # feifigd # 91 380 359 %0 Reason (R) &

ATTFE (A) TRaI 1 =aER ST AifEn-w = = R |



F (R) : TR T TR S ST |
I U F AT °, 94 fou T faweni § @ ges 39 3 0 999 i

(D) (&) it ®) T4 77 2 #07 R). (&) F 78 == 2
@ (A) 3R ®) 3 7 E, 3 R), (A) F 7H =mEn T 2
@ (A2, S R A R

@) (A=A R, WA (R) wE R

[Question ID = 2711][Question Description = Q86_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10841]
2. 2 [Option ID = 10842]
3. 3 [Option ID = 10843]
4. 4 [Option ID = 10844]

87)  Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R.
Assertion (A):  Social work 1s a profession of many faces.
Reason (R) : Social workers practice in varied situations.

In the light of the above statements. choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3 (A) 1s correct but (R) is not correct

(4) (A) 1s not correct but (R) 1= correct

= =1 #u faw o F : wh ATaEYT Assertion (A) % ®9 # foifigd ® 91 g80 355 F19 Reason (R)

AT (A) WIS 1 U o5 SAEH =&8 # |
Fo (R) TS Al afay it § we w2

I FUA F AA 4, 419 e e el § ¥ mew v I # =2 Aif

(1) (A # (R) 391 T# 2 3K (R). (A) =i T&1 = 3 |

(@) (AT R) A T 7, A R), (A) F HE == = 2
(3) (A) = 2, T (R) 78 77 2

(4 (A TATE A R) TA R

[Question ID = 2712][Question Description = Q87_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10845]



2. 2 [Option ID = 10846]
3. 3 [Option ID = 10847]
4. 4 [Option ID = 10848]

88)

Given below are two statements :

Statement I: Contaglon theory assumes that individuals act irrationally as they come

under hypnotic influence of a crowd.

Statement I : Emergent norm theory assumes that norms emerge after people gather for

collective behaviour and that their behaviour afterward is largely rational.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement II are incorrect

(3 Statement I 1s correct but Statement IT 1= incorrect

(4) Statement I 1s incorrect but Statement II 1s correct

FoH ([): G5 g HeaT widl 2 6 His % amE® v9E 8 A B SAtwd [GadaiE did © s

0 7 |

Fu (ID) : Il o= g ®oaar #tan 2 % 59 = 9gies =9gen % fov 591 54 2 99 96 T

o 4 e -t N3
T £ | 31 36 18 3991 SHEEN SAHEE: a2 8

T YA A °, e e T e d 8 me 3w I R = A

1) FF (@) ¥ @D I TE E |
(2) =g (D) w10 =6 7o F
(3) = (D EE 7, FiA Faa (1) T

(4) = (D) = 7, S wee (1D @8 E |

[Question ID = 2713][Question Description = Q88_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10849]
2. 2 [Option ID = 10850]
3. 3 [Option ID = 10851]
4. 4 [Option ID = 10852]

89)

Given below are two statements :
Statement I: Soclal action is a much needed method for social work practice in India.

Statement IT: Social action has been given much importance in social work teaching in

India.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement IT are correct



(2) Both Statement I and Statement IT are incorrect
(3) Statement I is correct but Statement IT is incorrect

(4) Statement I is incorrect but Statement II is correct

= 3 v faw e -

w9 ([) :  HEITAF R 90A | HETAE B i F 0 U AT =i 7 |

Fom (II) : WRA ® @a7e *F f0em & gmfses B = a5 9aea 5 w0 2

IFEF U AT °, A 5 T fawen 0 8 g9 Ivw 9 w0 99 Fe

() = (D & (1D 2 74 7 |
(2) = (D) & (1) =41 TeE
(3) = (D =R 7, =i A (1D 7o 2 |

4) == (D) 7o =, =i wee (D = 2 |
[Question ID = 2714][Question Description = Q89_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10853]
2. 2 [Option ID = 10854]

3. 3 [Option ID = 10855]
4. 4 [Option ID = 10856]

90)  Given below are two statements :

StatementI: “Dowry” as per the Dowry Prohibition Act, 1961 means any property or
valuable security given or agreed to be given either directly or indirectly.

Statement II: Where any person 1s prosecuted for taking or abetting to take dowry or the
demand of dowry, the burden of providing that he had not committed an

offence shall be on him.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement IT are false
(3) Statement I is true but Statement II 1= false

(4) Statement I is false but Statement IT 1s true
e & e fam o E

Fo (I): 2= FUg, FF 1961 F F9890 T2 H A9 TEE T 0 =9 ¥ 4 i W A F o am

~

T T6H FE FTH TH1 A o6 g T w0 AEEE o 399 F A |

IHAE Y F AT 5, A 20 T famedt 9 ® w6l 36w 1 55 Hifaw



(L) o (D i 1D 2 5 2

(2) A (D R 1D 7 5= A 7 |

(3) = (I) ¥ed 7, ofhd H94 (1) 794 7 |

(@) A (D) 375 2, wifed #99 (ID) 93 = |

[Question ID = 2715][Question Description = Q90_SocWork_SHAAN_0521_S2_Shift1]

A W N -

1 [Option ID = 10857]
2 [Option ID = 10858]
3 [Option ID = 10859]
4 [Option ID = 10860]

Topic:- SocWok_SH2_set1_B

1)

=

Read the paragraph and answer the following question :

The deepening of globalizsation processes in all spheres of public life leads to the situation
when many of the problems that have recently been internal are increasingly becoming
international in nature. the rise of poverty and migration processes. social stratification of
the soclety. deterioration of the demographic situation. the spread of destructive forms of
manifestation of deviations. etc. Globalisation has forced to modify many professions
including social work. The globalisation processes taking place today in the world
considerable expand the scope and tasks of social work as a profession. as evidenced by the
adopted global priorities of social development and the new global definition of social work.
The main ways of social work responding to the globalisation of social processes are the
revision of 1ts mission and tasks. the expansion of 1ts scope and role. the
internationalisation of the profession. the extension of its efforts to the international level,
the increased understanding of the interconnection of global. regional and local dimensions
of =zocial problems. In the context of the complication of social work's goals, content and
functions, the modernization of social work training is an urgent task not only in countries
where 1t 1s introduced recently but also in developed countries where programs on social
work have been launched a long time ago. The main trends in the modernization of social
workers training are the decentralisation of higher education management. the unification
of the curriculum. the introduction of distance education technologies. the strengthening of
interdisciplinary cooperation, the internationalisation of education.

-

FefeifEd T 1 SAHYE® 9 R 3696 SUR 9 A {50 T we #5 I G

TEEF A=A F T & 9 dvare i U 99 29 9 Uhl fElE 3o el 2 W wE wee, |
F9 THA Tl 7 AHEE A1, d F A ey sl o TE 2, A6 6 el iR g=aee a9

i~ o~ ¥ 3 e % i~ - i~ - = =
Ihg, TES T AEISAF FAE0, SEeSE Tt 1 e, e f sttt 5 e e

1 Taeam s | vl 3§ au=HE G 5 Y9 § 59N FE AGEE 99 53 7 ) o g | 9w
T dvelipror 1 UlEEEl A U S % w9 0 GETS 0 % gl 3 wE] § BT e e g 2, S
% At e i s 72 dvas TAEEaE ST e B F 92 afvas TeEn o g6 5691 # |
HEITTR WA % ATEE  fasT § THI B h §ET 99 B - 3Eh [99F S w8 meie

£, JLE

FAAT, THE S AT IR F R A, 39 U9 F S A F, 6 T AT W W

e

=

TR AT TUT TR GEEE § Afvas®, &E N T S f weR avgal f @0y § 3

FAT | HHTH B h IgeTAl, [Guheng R il i AZear & Hgd H AMiEE wEwal G

AYHFR 9 Fae 3 SO H dchiel AGYIE 7 Wel SR Bl § B YR 58 7, Sfeh 34 o | o

AETAF 7 FEl WATA B GE] FBEHH B AT TRl IE U S g 7§ | QA HEEaiA & e

& AnFEET B TgE T, = e veea w0 e, aEmwd w1 v, g foen

it
o

=1 IHAT, AT HEAT W WG T T R A E |
S 2 s

As per paragraph. the scope of social work is considerably expanding hecause

(1 Social work 1s a professional activity

(2) Social work profession 1s under going significant changes

(3) Social work has adopted global developmental goals as its priority



(4 Social work training is now on path of modernisation

PITE % AAEE G HE o g H R {2 T i -

(1) OIS F v == TdaE 2 |

(2)  THEITAF B9 % =FEE § FrE §5eE 7w E |

(3)  mmEITF = A ATaw FwwETEs FE AT WA ET 8 A E
(4)  TETSF FE TEIE S AR E T

[Question ID = 2716][Question Description = Q91_SocWork_SHAAN_0521_S2_Shift1]
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2)

[ o=

1 [Option ID = 10861]
2 [Option ID = 10862]
3 [Option ID = 10863]
4 [Option ID = 10864]

Read the paragraph and answer the following question :

The deepening of globalisation processes in all spheres of public life leads to the situation
when many of the problems that have recently been internal are increasingly becoming
international in nature. the rise of poverty and migration processes. social stratification of
the soclety. deterioration of the demographic situation. the spread of destructive forms of
manifestation of deviations. etc. Globalisation has forced to modify many professions
including social work. The globalisation processes taking place today in the world
considerable expand the scope and tasks of social work as a profession. as evidenced by the
adopted global priorities of social development and the new global definition of social work.
The main ways of social work responding to the globalisation of social processes are the
revision of 1its mission and tasks., the expansion of its scope and role. the
Internationalisation of the profession. the extension of its efforts to the international level
the increased understanding of the interconnection of global. regional and local dimensions
of =zocial problems. In the context of the complication of social work's goals. content and
functions, the modernization of social work training is an urgent task not only in countries
where 1t 13 introduced recently but also in developed countries where programs on social
work have been launched a long time ago. The main trends in the modernization of social
workers training are the decentralisation of higher education management. the unification
of the curriculum. the introduction of distance education technologies. the strengthening of
interdisciplinary cooperation, the internationalisation of education.

[

FefeifEd T 1 SAHYE® I HR 36 SUR 9 A {50 T we #5OI G

HEAEF A F 99 & 8 Svar 1 9 99 2E ° vE {5 St B 2 o9 FE wee, A
F9 THA Tedl °F AWE A, 9l ¥ AGUEE T=EY h w4 A E 2, A R e 1 vee s o

s o~ ¥ 3 e % i~ - i~ - = =
Ihg, TS F AEISAF FAEO, AT E T 1 e, e f sttt 5 e e

1 Term s | Ayl 5 aET=HE Gt % Ye § SN FE AGEE 99 53 7 ) e g | 9e
T dvelipror I UlEES A U S % w9 OH GETS FE % g 3 wE] § BT fEen e fEm 2, S
o Tt fawm i s 7 Afvas mAmEaE o oaE w5 T Avas TR ° O6 999 2 |
HEISTF WA % ATEE  Uiae § THS B h §EA 99 B - $E [99F SR w8 meie
FAAT, THE S AN IR F R A, 59 U9 F S A A, I T AT W W
,

SR AT T1 T GRS & dfvah, & i TaEE s f e gwmga i om0 9l
FAT | HHTH B h IgeTAl, [Guheng R il kil AiZed & HgH H AMiEE wEwal G

AYHF T Fae I SU H dchiel AGYEF £ Wel I Bl § B YR 58 7, Sfed 34 oo A A
AETAF 7 TE WATA B GEH] FBEHH B AT TRl IE U S g 2§ | Qi HEEaiA & e

& AEEET B TaE T, = e v # e, aems v, gyt
TR i TEeE, ST wEA H gge #n e s E

According to the author, social work profession can respond to the globalisation of social
processes through

(A) revisiting its mission

(B) internationalisation of the profession

(C) analysis the forces of the globalisation

Famil st e T i L B ot B S
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Choose the most appropriate answer from the options given below :

(1)  (A)only

(2) (A) and (B) only

(3 (A), (B) and (C) only

(4 (A). (B) and (D) only

EF F FIEN, TAE HE H AEAE R A @ G T 6 v e FE R gkl

2

g

(A) 310 THeFE § H@INYA F0 |

(B)  =HaEM™  AGUY A FF |

(C) v F FF F AT = |

(D) H9H gEd FH g e i |

fr=1 fou 7o fapeai | © wed S9gE IH H =EA HibAC

(1) =E (A) (2) A (A) 3 (B)

(3)  ad (A). (B) 31 (C) (4) Fa (A). (B) 3T (D)
[Question ID = 2717][Question Description = Q92_SocWork_SHAAN_0521_S2_Shift1]
1 [Option ID = 10865]

2 [Option ID = 10866]

3 [Option ID = 10867]
4 [Option ID = 10868]

AN wnN -

3) Read the paragraph and answer the following question :

The deepening of globalisation processes in all spheres of public life leads to the situation
when many of the problems that have recently been internal are increasingly becoming
international in nature. the rise of poverty and migration processes. social stratification of
the soclety. deterioration of the demographic situation. the spread of destructive forms of
manifestation of deviations. etc. Globalisation has forced to modify many professions
including social work. The globalisation processes taking place today in the world
considerable expand the scope and tasks of social work as a profession. as evidenced by the
adopted global priorities of social development and the new global definition of social work.
The main ways of social work responding to the globalisation of social processes are the
revision of 1its mission and tasks., the expansion of its scope and role. the
Internationalisation of the profession. the extension of its efforts to the international level.
the increased understanding of the interconnection of global. regional and local dimensions
of =zocial problems. In the context of the complication of social work's goals. content and
functions, the modernization of social work training is an urgent task not only in countries
where 1t 13 introduced recently but also in developed countries where programs on social
work have been launched a long time ago. The main trends in the modernization of social
workers training are the decentralisation of higher education management. the unification
of the curriculum. the introduction of distance education technologies. the strengthening of
interdisciplinary cooperation. the internationalisation of education.

I

et T F A T SR 3% gE T AN i s m e T

HEAEF A F 99 &3 ¥ SvarE F U 99 7H ° vE {5E 39 B B o9 % w9, Al
F9 THA Tedl °F AE A, 9l ¥ AGUGE TET h w4 A T 2, A R e A Tww s o

i i ik B = i 5
Ihg, TS T AEISAF FAEO, AT E Tt 1 e, e f st e e

1 Term s | Ayl 5 aET=HE Gt % Ye § SN FE AGEE 99 53 7 ) e g | 9e
T dvelipror I UlEES A U S % w9 OH GETS FE % g 3 wE] § BT fEen e fEm 2, S
o At e i s 72 dvas TAEEaE S0 e B F 92 Afvas TeET o 96 56991 # |
HEISTF WA % ATEE  Uiae § THS B h §EA 99 B - $E [99F SR w8 meie
FAAT, THE S AN IR F R A, 59 U9 F S A A, I T AT W W
_

SR AT T1 T GRS & dfvah, & i TaEE s f e gwmga i om0 9l
FAT | HHTH B h IgeTAl, [Guheng R il kil AiZed & HgH H AMiEE wEwal G




dﬂiﬂ?ﬁm:m:ﬂmndwm AEGTIF § FAnl 34H1 7l H 7 TS 55 &, Hlewh 34 o9 H i
AETTF 7 & A mwaﬁWﬁmWTﬁmmwnlmmm$mm
ED m"crﬁ’m’ﬁw =i T Hqiﬂ‘l-li I=9 T9A TEE H T, GISAEEl T TR, Rz ToreT
MFTFAT 1 TEAT, AT-TI99F TaarT H Healwm 317 e H1 SFaidEw |

The global definition of social work can be considered as the evidence of

(A) expanding the scope of social work as profession
B) enhancing focus on global priorities
(C) expanding the tasks of social work as a profession

D) globalisation processes as witnessed every day

Choose the most appropriate answer from the options given below :

(1) (A) and (B) only
(2  (A) and (C) only
(3) (B) and (C) only

4) (C) and (D) only

I 1 il Ava®F UET F R e JET S =T 27

(A) 99 % B9 4, HETaE B9 F =R g fEEn w1

(B)  dfTers mmEaE WA S o

(C) UF =199/ F =9 § TATA A F FwE R G F11

(D)  wiafea s o= T dvdm 6 aiwm

= fou U fasedi § @ 5eE IUge I 99 Hira

(1)

(3)

(4)

e (A) 1 (B)
Fae (A) 3T (C)
Fae (B) 517 (C)

Fae (C) 57 (D)

[Question ID = 2718][Question Description = Q93_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10869]
2. 2 [Option ID = 10870]
3. 3 [Option ID = 10871]
4. 4 [Option ID = 10872]

4)

Read the paragraph and answer the following question :

The deepening of globalisation processes in all spheres of public life leads to the situation
when many of the problems that have recently been internal are increasingly becoming
international in nature. the rise of poverty and migration processes. social stratification of
the soclety. deterioration of the demographic situation. the spread of destructive forms of
manifestation of deviations. etc. Globalisation has forced to modify many professions
including social work. The globalisation processes taking place today in the world
considerable expand the scope and tasks of social work as a profession. as evidenced by the
adopted global priorities of social development and the new global definition of social work.
The main ways of social work responding to the globalisation of social processes are the
revision of 1ts mission and tasks. the expansion of 1ts scope and role. the
internationalization of the profession. the extension of its efforts to the international level,



the increased understanding of the interconnection of global, regional and local dimensions
of social problems. In the context of the complication of social work's goals. content and
funections, the modernization of social work training is an urgent task not only in countries
where 1t 13 introduced recently but also in developed countries where programs on social
work have been launched a long time ago. The main trends in the modernisation of social
workers training are the decentralisation of higher education management. the unification
of the curriculum, the introduction of distance education technologies. the strengthening of
interdisciplinary cooperation. the internationalization of education.
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The internationalisation of education is considered one of the main trends in the

(1) internationalisation of the social response

(2) modernising social work training

(3) social work research

(4 formulation of social work goals
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[Question ID = 2719][Question Description = Q94_SocWork_SHAAN_0521_S2_Shift1]

A wWw N -

5)

1 [Option ID = 10873]
2 [Option ID = 10874]
3 [Option ID = 10875]
4 [Option ID = 10876]

Read the paragraph and answer the following question :

The deepening of globalization processes in all spheres of public life leads to the situation
when manv of the problems that have recently been internal are increasingly becoming
international in nature. the rise of poverty and migration processes. social stratification of
the soclety. deterioration of the demographic situation. the spread of destructive forms of
manifestation of deviations. ete. Globalizsation has forced to modify many professions
including social work. The globalisation processes taking place today in the world
considerable expand the scope and tasks of social work as a profession. as evidenced by the
adopted global priorities of social development and the new global definition of social work.
The main ways of social work responding to the globalisation of social processes are the
revision of its mission and tasks. the expansion of its scope and role. the
internationalization of the profession, the extension of its efforts to the international level,
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of social problems. In the context of the complication of social work's goals. content and
functions, the modernization of social work training is an urgent task not only in countries
where 1t 12 introduced recently but also in developed countries where programs on social
work have been launched a long time ago. The main trends in the modernisation of social
workers training are the decentralisation of higher education management. the unification
of the curriculum. the introduction of distance education technologies. the strengthening of
interdisciplinary cooperation, the internationalisation of education.
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What can be the suitable title of the paragraph?

(A) Analysing Social Work Profession

(B) Globalising Social Work

(C) Social Work Education in the light of globalisation
D) Social Workers in Today's World

(A)  THAS FE TS w EgeE
(B)  TATT FE 1 AT FA
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[Question ID = 2720][Question Description = Q95_SocWork_SHAAN_0521_S2_Shift1]

AW N =

1 [Option ID = 10877]
2 [Option ID = 10878]
3 [Option ID = 10879]
4 [Option ID = 10880]

Topic:- SocWok_SH2_set1_C

1)

Read the paragraph and answer the following question :

Passive resistance 1s a method of securing rights by personal suffering. it 1s the reverse of
resistance by arms. When I refuse to do a thing that is repugnant to my conscience. I use

soul-force. For instance. the Government of the day has passed a law which 1= applicable to
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emploving what may be termed body-force. If I do not obey the law and accept the penality

for its breach. I use soul-force. It involves sacrifice of self.
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The sacrifice of self 1s infinitely superior to sacrifice of others because
(1 Law is breached (2) Government is challenged

(&]] Body-force is used (4) Only the person using it suffers
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[Question ID = 2721][Question Description = Q96_SocWork_SHAAN_0521_S2_Shift1]
1 [Option ID = 10881]
2 [Option ID = 10882]
3 [Option ID = 10883]
4 [Option ID = 10884]

A WN -

2) Read the paragraph and answer the following question :

Passive resistance 1s a method of securing rights by personal suffering. it is the reverse of
resistance by arms. When I refuse to do a thing that is repugnant to my conscience. I use
soul-force. For instance. the Government of the day has passed a law which 1= applicable to
me. I do not like it. If by using viclence. I force the Government to repeal the law. I am
emploving what mav be termed body-force. If I do not obey the law and accept the penality

for 1ts breach. I use soul-force. It involves sacrifice of self.
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Passive resistance 1s a method of

(1) Securing rights (2) Using violence
3) Using body-force (4) Satisfying power
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[Question ID = 2722][Question Description = Q97_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10885]
2. 2 [Option ID = 10886]
3. 3 [Option ID = 10887]
4. 4 [Option ID = 10888]

3)

Read the paragraph and answer the following question :

Passive resistance 1s a method of securing rights by personal suffering. it is the reverse of
resistance by arms. When I refuse to do a thing that 1s repugnant to my conscience. I use
soul-force. For instance. the Government of the day has passed a law which 1z applicable to
me. I do not like it. If by using violence. I force the Government to repeal the law. I am

emploving what mayv be termed body-force. If I do not obey the law and accept the penality

for 1ts breach. I use soul-force. It involves sacrifice of self.
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Given below are two statements : one 1s labelled as Assertion A and the other is labelled as
Reason R.

Assertion (A) :  Passive resistance is a method of securing rights by personal sufferings.

Reason (R) : Soul-force involves sacrifice of zelf.
In the light of the above statements. choose the correct answer from the options given below :

(48] Both (A) and (R) are frue and (R) is the correct explanation of (A)

2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) 1s true but (R) is false

4) (A) 1= false but (R) 1s true
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[Question ID = 2723][Question Description = Q98_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10889]
2. 2 [Option ID = 10890]
3. 3 [Option ID = 10891]



4. 4 [Option ID = 10892]

4)  Read the paragraph and answer the following question :

Passive resistance 1s a method of securing rights by personal suffering. it 1s the reverse of
resistance by arms. When I refuse to do a thing that is repugnant to my conscience. I use
soul-force. For instance. the Government of the day has passed a law which 1= applicable to
me. I do not like it. If by using violence. I force the Government to repeal the law. I am
emploving what may be termed body-force. If I do not obey the law and acecept the penality

for 1ts breach. I use soul-force. It involves sacrifice of self.
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Given below are two statements :
Statement I: Soul-force and body-force have similar implications for securing rights

Statement IT: Body-force is the reverse of resistance by arms.

In the light of the above statements, choose the most appropriate answer from the options

give bhelow :

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement IT are incorrect
(3) Statement I is correct but Statement II is incorrect

(4) Statement I is incorrect but Statement I is correct
= g A Ry e E
Fo (I): AT TTTH 7 SToqae 11T ST oo F8E i 2 |

FoA (II) : o9 ey w9 & fauia 21

I FUA F AR §, A9 2 1o faweui 4 4 ged SugE I # = i
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[Question ID = 2724][Question Description = Q99_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10893]
2. 2 [Option ID = 10894]
3. 3 [Option ID = 10895]
4. 4 [Option ID = 10896]

5) Read the paragraph and answer the following question :

Passive resistance is a method of securing rights by personal suffering. it is the reverse of
resistance by arms. When I refuse to do a thing that 1s repugnant to my conscience, I use
soul-force. For instance. the Government of the day has passed a law which 1s applicable to
me. I do not like it. If by using viclence. I force the Government to repeal the law, I am
emploving what may be termed body-force. If I do not obey the law and accept the penality

for its breach. I use soul-force. It involves sacrifice of self.
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What 1s soul-force?

(A) Saecrifice of self

(B) Refusal to go against conscience

(C) Use of viclence

(D) Body-force for resistance

Choose the most appropriate answer from the options given below :

() (A). (B). (C) and (D)
(2) (A), (B) and (C) only
(3) (A) and (B) only
(4 (A) and (C) only

AT T FAT 27

(B)  wvEdl % e 99 § 3R
(C)  T=d1 =1 T=@m
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(1) (A), (B). (C) 311 (D) (2) =Hae (A). (B) #1 (C)

(3) &A= (A) 37 (B) (4) Hae (A) 3 (C)



[Question ID = 2725][Question Description = Q100_SocWork_SHAAN_0521_S2_Shift1]
1. 1 [Option ID = 10897]
2. 2 [Option ID = 10898]
3. 3 [Option ID = 10899]
4. 4 [Option ID = 10900]

Topic:- GP36_D1_SH1_Set2_A

1) Study the table carefully to answer the question that follows :

The given table has the number of boys and girls (in hundreds) in 5 different years in 4 different schools (A, B, C, D) (M-
Boys, F-Girls).

School — A B C D

| Year M F M F M F M F
2016 4.2 4.7 6.3 4.2 5.6 3.5 7.6 7.7
2017 7.7 5.3 5.9 3.3 4.4 5.5 6.6 4.7
2018 10.4 7.9 5.7 5.3 5.9 6.4 3.8 3.5
2019 6.5 10.7 7.4 6.5 6.3 4.3 6.5 6.8
2020 9.5 11.9 8.6 6.9 7.6 5.4 7.9 7.6

dIferet &1 eAreIyda 31eRIol @3 3iiR ofid U yost o1 3R § :
offa &t or¢ enferapt & 4 fafdear @il (A, B, C, D) 3 5 faftreor auf 3 arcrl vd arfereiail &6t e (st ) o 3
(M - e, F - aiferog)

e — A B C D

| ad M F M F M F M F
2016 4.2 4.7 6.3 4.2 5.6 3.5 7.6 7.7
2017 7.7 5.3 5.9 3.3 4.4 5.5 6.6 4.7
2018 10.4 7.9 5.7 5.3 5.9 6.4 3.8 3.5
2019 6.5 10.7 7.4 6.5 6.3 4.3 6.5 6.8
2020 9.5 11.9 8.6 6.9 7.6 5.4 7.9 7.6

Find out the difference between the number of boys in School A and School B during 2016-2020.
ad 2016 - 2020 o> Sizrel ¥ayet A 3iir et B 3 srciol &l Az @ di 3iar s @3 ©

[Question ID = 25314][Question Description = S2_qSNz_PG_GP36_Q01]
1. 440

[Option ID = 41256]
2. 445

[Option ID = 41257]
3. 450

[Option ID = 41258]
4. 460

[Option ID = 41259]

2) Study the table carefully to answer the question that follows :

The given table has the number of boys and girls (in hundreds) in 5 different years in 4 different schools (A, B, C, D) (M-
Boys, F-Girls).

School — A B C D

| Year M F M F M F M F
2016 4.2 4.7 6.3 4.2 5.6 3.5 7.6 7.7
2017 7.7 5.3 5.9 3.3 4.4 5.5 6.6 4.7
2018 10.4 7.9 5.7 5.3 5.9 6.4 3.8 3.5
2019 6.5 10.7 7.4 6.5 6.3 4.3 6.5 6.8
2020 9.5 11.9 8.6 6.9 7.6 5.4 7.9 7.6




AIferpT I eAeIgdd 31eRIA B3 3R ofld fou gt dr 3= ¢ :
ofid & o1 afernt 3 4 fafdoor el (A, B, C, D) 3 5 faftroor aul 3 arcrot vd arferaiait &t e (Jwst A) & o 3
(M - s, F - aiferomg)

rpa — A B c D

| ad M F M F M F M F
2016 4.2 4.7 6.3 42 5.6 [3.5 7.6 [7.7
2017 7.7 5.3 59 [3.3 |44 5.5 6.6 [4.7
2018 10.4 7.9 57 5.3 5.9 6.4 [3.8 [3.5
2019 6.5 10.7 7.4 6.5 6.3 43 6.5 6.8
2020 9.5 11.9 8.6 69 7.6 5.4 79 [7.6

Which school has the lowest number of girl students enrolled during 2016-2020?
ad 2016 - 2020 o Sierel a1 Fayet 3 amdAifcpa STl B AT AR A 8 ?

[Question ID = 25315][Question Description = S2_qSNz_PG_GP36_Q02]
1. A

[Option ID = 41260]
2. B

[Option ID = 41261]
3. C

[Option ID = 41262]
4. D

[Option ID = 41263]

3) Study the table carefully to answer the question that follows :

The given table has the number of boys and girls (in hundreds) in 5 different years in 4 different schools (A, B, C, D) (M-
Boys, F-Girls).

School — A B C D

| Year M F M F M F M F
2016 4.2 4.7 6.3 4.2 5.6 3.5 7.6 7.7
2017 7.7 5.3 5.9 3.3 4.4 5.5 6.6 4.7
2018 10.4 7.9 5.7 5.3 5.9 6.4 3.8 3.5
2019 6.5 10.7 7.4 6.5 6.3 4.3 6.5 6.8
2020 9.5 11.9 8.6 6.9 7.6 5.4 7.9 7.6

dferet o1 eAreIydad 31eRIol 3 3iiR ofid U yost &I 3R ¢ :
offax &t or¢ enferopt & 4 fafdear @l (A, B, C, D) 3 5 faftroor auf 3 arcrl vd arferorsil &6t e (sl ) & o 3
(M - s, F - aiférore)

e — A B C D

| ad M F M F M F M F
2016 4.2 4.7 6.3 4.2 5.6 3.5 7.6 7.7
2017 7.7 5.3 5.9 3.3 4.4 5.5 6.6 4.7
2018 10.4 7.9 5.7 5.3 5.9 6.4 3.8 3.5
2019 6.5 10.7 7.4 6.5 6.3 4.3 6.5 6.8
2020 9.5 11.9 8.6 6.9 7.6 5.4 7.9 7.6

Which school has the maximum number of boys enrolled during 2016-2020?
ad 2016 - 2020 & Sizrel fopa1 Fapet 3 omAifehd aretenl bt e Aaifiie 2 ?

[Question ID = 25316][Question Description = S2_qSNz_PG_GP36_Q03]
1. A



[Option ID = 41264]

2. B

[Option ID = 41265]

3. C

[Option ID = 41266]

4. D

[Option ID = 41267]

4) Study the table carefully to answer the question that follows :

The given table has the number of boys and girls (in hundreds) in 5 different years in 4 different schools (A, B, C, D) (M-

Boys, F-Girls).

School — A B C D

| Year M F M F M F M F
2016 4.2 4.7 6.3 4.2 5.6 3.5 7.6 7.7
2017 7.7 5.3 5.9 3.3 4.4 5.5 6.6 4.7
2018 10.4 7.9 5.7 5.3 5.9 6.4 3.8 3.5
2019 6.5 10.7 7.4 6.5 6.3 4.3 6.5 6.8
2020 9.5 11.9 8.6 6.9 7.6 5.4 7.9 7.6

AIRIDT @I eoIydad 3rEeRIeT @3 12 il Y yeat ®f 3a= & &
ofid & o1 aferot 3 4 fafdoor el (A, B, C, D) 3 5 faftroor aul 3 arcret vd arfereiait &t e (Jwst ) & o 3

(M - s, F - aiférom)

e — A B c D

| ad M F M F M F M F
2016 4.2 4.7 6.3 42 5.6 [3.5 7.6 [7.7
2017 7.7 5.3 59 3.3 |44 5.5 6.6 [4.7
2018 10.4 7.9 57 5.3 5.9 6.4 [3.8 [3.5
2019 6.5 10.7 7.4 6.5 6.3 43 6.5 6.8
2020 9.5 11.9 8.6 6.9 7.6 [5.4 79 [7.6

Which school has the minimum percentage increase in total student enrollment (both boys and girls) from 2019 to 2020?
fp21 Fapet 3 2019 A1 2020 & BIG) D el oliAidbol (dIerd 3R diferdie Siell) 3 oyoraa gferord afis &% ?

[Question ID = 25317][Question Description = S2_qSNz_PG_GP36_Q04]
1. A

[Option ID = 41268]
2. B

[Option ID = 41269]
3. C

[Option ID = 41270]
4. D

[Option ID = 41271]

5) Study the table carefully to answer the question that follows :

The given table has the number of boys and girls (in hundreds) in 5 different years in 4 different schools (A, B, C, D) (M-
Boys, F-Girls).

School — A B C D

| Year M F M F M F M F
2016 4.2 4.7 6.3 4.2 5.6 3.5 7.6 7.7
2017 7.7 5.3 5.9 3.3 4.4 5.5 6.6 4.7
2018 10.4 7.9 5.7 5.3 5.9 6.4 3.8 3.5
2019 6.5 10.7 7.4 6.5 6.3 4.3 6.5 6.8




2020 ‘9.5 |11.9 ‘8.6 ‘6.9 ‘7.6 |5.4 ‘7.9 ‘7.6

dIferet &1 eAreIyda 31eRIol @3 3iiR ofid U yost oI 3R ¢ :
i &t o1$ aferant 3 4 fafdeor Tapei (A, B, C, D) 3 5 faftieer aut 3 arcrol vd anferarsii &t ear (st ) s 8
(M - e, F - aiferog)

e — A B C D

| ad M F M F M F M F
2016 4.2 4.7 6.3 4.2 5.6 3.5 7.6 7.7
2017 7.7 5.3 5.9 3.3 4.4 5.5 6.6 4.7
2018 10.4 7.9 5.7 5.3 5.9 6.4 3.8 3.5
2019 6.5 10.7 7.4 6.5 6.3 4.3 6.5 6.8
2020 9.5 11.9 8.6 6.9 7.6 5.4 7.9 7.6

Which year has the minimum number of girls enrolled during 2016-2019?
ad 2016 - 2019 & Sizrel fopar ad onaifpa arferpiail &bt e w-Jeteaa & ?

[Question ID = 25318][Question Description = S2_qSNz_PG_GP36_Q05]
1. 2016

[Option ID = 41272]
2. 2017

[Option ID = 41273]
3. 2018

[Option ID = 41274]
4. 2019

[Option ID = 41275]

Topic:- GP36_D1_SH1_Set2_B

1) Which among the following is a MOOC platform?
forgarferRaa & 21 ®lot AT wat 30 301 A (IP) wiewis 3 ?

[Question ID = 25324][Question Description = S2_qSNz_PG_GP36_Q06]
1. Urkund/33@s

[Option ID = 41296]
2. Jitsi Meet/Rrczit aiic

[Option ID = 41297]
3. Coursera/®RRr

[Option ID = 41298]
4. Google Meet/spret dic

[Option ID = 41299]

2) ldentify the correct sequence to join a Google Meet session
A. Enter code and click continue

B. Click ASK to join

C. Click use a meeting code

D. Go to meet.google.com

E. When someone in the meeting gives you access you will join it.
Choose the correct answer from the options given below:

3pIct dflc ¢ sdisol @0l D W] TRVI JaIU

A. D15 Gz B3 3R By e o3

B. st ¢ sdisel faciad @3

C. Ig1 3 diifésr ol faerd o2

D. meet.google.com uz s



E. s afifdsr i DI smud) wadA Sar 2, dl g 3A Sdisol dial
ofia f3u a1u faaseul 3 A I8 IR DI TR BRI

[Question ID = 25325][Question Description = S2_qSNz_PG_GP36_Q07]
1. A,B,D,C, E

[Option ID = 41300]
2. D,C, A, B, E

[Option ID = 41301]
3. E,AB,CD

[Option ID = 41302]
4. D,AE, B, C

[Option ID = 41303]

3) Given below are two statements

Statement I: Operant conditioning was discovered by Thorndike.

Statement II: Classical conditioning was discovered by Ivan Pavlov.

In light of the above statements, choose the most appropriate answer from the options given below
il S werel fdu sre 3 ¢

@ - | : R yda sielderet &l HiS ediclss® of &l oft

el - |l : aenfR¥3rdt sigyaetol &Y st saret Uaciia of &b oft

SWRITP Dol @ 3Mrelld i, ofld 3w s1u Ripedl 3 A A8l Iar I a6t HifSte :

[Question ID = 25326][Question Description = S2_qSNz_PG_GP36_Q08]
1. Both Statement | and Statement Il are correct/erer | 3iiz |1 Qi 31t &

[Option ID = 41304]
2. Both Statement | and Statement Il are incorrect/aerer | 3ii2 |1 Sloil srcta &

[Option ID = 41305]
3. Statement | is correct but Statement Il is incorrect/wmepor | 28l € , fpog weet |l s1ea &

[Option ID = 41306]
4. Statement | is incorrect but Statement Il is correct/em | ster 8, fpoq e |l 2@t 8

[Option ID = 41307]

4) ldentify the correct phases of activity for the Advance Organiser Model.
A. Presentation of curriculum embedding

B. Presentation of advance organiser

C. Presentation of study groups

D. Presentation of learning task or material

E. Strengthening cognitive organisation

Choose the correct answer from the options given below:
' usaiA sifslelssRk dfse’ @ e fogn & 13l arvT vsarel :

A. UIGIRRIT 3MEIT6T DT YFeilduT

B. wsdi sifsfeirssiz @I gdciiasor

C. 31E=RIeT Bl DI YIAAIDT

D. sif2er1 @Rl a1 AREH o1 gRqdiaor

E. JSi6icaAc 3160l BT ARDIBIT

il fou s1u Ryepeul 3 A I IR BT w6l HIfSIE ©

[Question ID = 25327][Question Description = S2_qSNz_PG_GP36_Q09]
1. A, B and C only/daa A, B siiz C

[Option ID = 41308]
2. B, C and D only/dae B, C aie D

[Option ID = 41309]
3. B, Dand E only/daet B, D sik E

[Option ID = 41310]
4. C,Dand Eonly/@aa C, D siR E

[Option ID = 41311]



5) Match List | with List Il

List | List Il

Human ability per Gardener's theory of
Skills

IMultiple Intelligence

I. Ability to appreciate and produce rhythm,

IA. Linguistic
tone, pitch and timbre
B. Logical-mathematical Il. Ability to handle long chains of reasoning
C. Musical lll. Ability to recognise plants and animals
. IV. Sensitivity to different functions of
D. Naturalist

language

Choose the correct answer from the options given below:

et -1 ot 2t -1l 3 AR B :

et -1 Rrcht -1l
(erSor @ @i - gfy & Rigia @ sigam

(cBloretr)
[ITeTa AYs=re)

|. TrI, drc1, dred 31 WTel bl IS B0l MR IeUool
A, srmur forstror Fideft

(w20t B dlieerar
B. c1a$ - a1forer zieiefl II. it 1as - gj aremraii Y 2isrerer B e
C. vioficr sicieht IIl. urcdt sitz Sftdi @I ugarewT Bt <oerr
D. yepRrarst IV. simar & Rifiroer wril & yfer Hgoteficrar

offa feu ore freul 3 A &) 3a= gfere :

[Question ID = 25328][Question Description = S2_qSNz_PG_GP36_Q10]
1. A-IV,B-1II,C-1,D-1l

[Option ID = 41312]
2. AJLB-1,C-1I,D-1V

[Option ID = 41313]
3. A-1,B-1l,C-1V,D- 1l

[Option ID = 41314]
4. A-1ILB-1V,C-11,D-1

[Option ID = 41315]

6) Post-positivism is related to which one of the following philosophies?
‘IR - yeagars forgoiferRaa 3 A fovar gofor A wHdfa 3 ?

[Question ID = 25329][Question Description = S2_qSNz_PG_GP36_Q11]
1. Subjectivism/fwforsdamas

[Option ID = 41316]
2. Critical Realism/zwefigncaes arrdadarg

[Option ID = 41317]
3. Empiricism/sfarojsraars

[Option ID = 41318]
4. Objectivism/azgferodrars

[Option ID = 41319]

7) Given below are two statements

Statement I: Type | Error refers to the decision to reject the null hypothesis when it is incorrect.
Statement IlI: Sampling error occurs due to the violation of the principle of random sampling.

In light of the above statements, choose the correct answer from the options given below

il 3 werel fRu sre 3 ¢

@erel - | : ersu - | gt ag Bt 3 S| stera gfsw uf¥ecuett ot sRdIPR @2 = Sirar 3

wee - |l : aeRkee yferarie & Rigid o1 Sccibe ®ol & BRI YRR e aXdl 3

SWRIFP Dol D 3Mrelld , ofld 3w s1e Rrapedl 3 A A8l Iaz @1 wrI6t HifSte :

[Question ID = 25330][Question Description = S2_qSNz_PG_GP36_Q12]



1. Both Statement | and Statement Il are true/erme | 3i || Sloll 31T &

[Option ID = 41320]
2. Both Statement | and Statement Il are false/a@erer | iz || Sloil sricr &

[Option ID = 41321]
3. Statement | is true but Statement Il is false /et | 31 8, fboqg werer || sricT &

[Option ID = 41322]
4. Statement | is false but Statement Il is true/memt | spicI 8, fbog wewer || 1 &

[Option ID = 41323]

8) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Generalisation of a finding is possible only in quantitative studies.

Reason R: Quantitative studies make use of deductive reasoning.

In light of the above statements, choose the correct answer from the options given below

il 3t perel f3u s1e 3@ uep sifdraperst (Assertion A) @ %u 3 iz ¢RI 3@ PRI (Reason R) & wu 3 :

sif3rperat (A) : forsd D1 ARMMGIIGIUT Bact ANICHD IERIGI 3 WA

®RYI (R) : AIcA® 31eRI6l 3 foPRIGIH® amun oI IueI s srar 3

IRITP Pall B el A, ofld e faseal 3 A A8 Iaz o1 a1 Hifste :

[Question ID = 25331][Question Description = S2_qSNz_PG_GP36_Q13]
1. Both A and R are true and R is the correct explanation of A/(A) siiz (R) Glali 311 3 3 (R), (A) &t 3 wmesn &

[Option ID = 41324]
2. Both A and R are true but R is NOT the correct explanation of A/(A) 3l (R) gleil 31 & wag (R), (A) &t 3d =reen ot 8

[Option ID = 41325]
3. Ais true but R is false/(A) 3 3, cifepat (R) 3RIT 3

[Option ID = 41326]
4. Ais false but R is true/(A) swic &, dfdvor (R) 3 8

[Option ID = 41327]

9) Which among the following are statistical packages?
A. SPSS

B. SAS

C. ANOVA

D. STATA

E. R

Choose the correct answer from the options given below:
foratfeiRaa 3 A et A AiRcadlr ddder 3 ?

A. SPSS

B. SAS

C. ANOVA

D. STATA

E.R

il fou s1u freseul 3 2 I IR BT a6l HIfSIE

[Question ID = 25332][Question Description = S2_qSNz_PG_GP36_Q14]
1. A, B, Cand D only/daa A, B, C iz D

[Option ID = 41328]
2. B, C, D and E only/daer B, C, D aiz E

[Option ID = 41329]
3. A, B, Cand E only/dac A, B, C iR E

[Option ID = 41330]
4. A, B, DandE only/dact A, B, D sl E

[Option ID = 41331]

10) Ethnography refers to

wesiv bl T ORI 3 -
[Question ID = 25333][Question Description = S2_qSNz_PG_GP36_Q15]



. Aresearch design that rules out alternative causal explanations of findings deriving from it/vw® ot sifdipeu Sit 331 yra forsapuf bt Jpfeud dRuI - DR
IRl @t aftfa war 3

[Option ID = 41332]
. An attribute in terms of which cases do not differ. /v a1 frrchI zfte 3 Bl 9 AR ofdl Bl &

[Option ID = 41333]

. A research method where the researcher immerses himself/herself in a social setting for an extended period of time for providing an account of
particular culture, society or community/uvd oiter fafér S oferaaf fopft fafore Jxampier, st A1 AHSRT DI avlel DIt D fore FaRi ciedl afe dd 3 AEAISID uf¥der
3 3BT &

[Option ID = 41334]
4. A measure that is employed to refer to a concept when no direct measure is available/um 3urr sit fepft sratmeun @1 SM9RT RITh B0l D forw fdpen ST 2 Siat

DI YreIsl SURT 3UcTsel ofdl Sl 3
[Option ID = 41335]

11) Identify the correct sequence for successful communication.
ABel AYYUT D fere dl srofapdt usdrol :

[Question ID = 25334][Question Description = S2_qSNz_PG_GP36_Q16]
. Sender — Encode message — Channel — Decode message — Audience — Feedback/Jue® — 9l ®I B¢ Aol Bl — dolel — AG9l DI [ARIDA6T DIl —

e — BIsTD

[Option ID = 41336]
2. Sender — Encode message — Audience — Channel — Decode message — Feedback/qua — g9t ot ag Jidol ol — AT — Tolel — AS9T DI fADBAeT

Dl — HIsTD

[Option ID = 41337]
3. Sender — Encode message — Decode message — Channel — Audience — Feedback/qQud — dd9r @l d¢ Jddol doll — AT DI fARid el DIl —

dolel — el — BIsID

[Option ID = 41338]
4. Sender — Encode message — Channel — Decode message — Feedback — Audience/qua — 3ic9r ®l ¢ Addol Bl —  dolcl — AG9I I fAiddol Dol —

Blsdd — ar
[Option ID = 41339]

12) Which of the following is a physical/environmental barrier to communication?
forgaiferRaa 3 A @it a1 / 2l JAYuvr & fere siifere / araraviia aren & ?

[Question ID = 25335][Question Description = S2_qSNz_PG_GP36_Q17]

1. Time/3wrr

[Option ID = 41340]
2. Personality/ifepra

[Option ID = 41341]
3. Power/authority/2rr / yifeprR

[Option ID = 41342]
4. Culture/3zafr

[Option ID = 41343]

13) A lady is reflecting on the causes of the environmental crisis. She is considering and attempting to link varied variables
to make sense of the issue. This scenario is an example of

U Afdell WRITGRI Jdbe @ PRI @ &R ¥ fKidel @2 36t 8 a6 HE DI Silolel @ fe1u fAfMool TRI @ diar Hder Fenfd w3l @ dr6 3 faaR ik YRt
3 @ 3 Az uleea @I IGIBT 3

[Question ID = 25336][Question Description = S2_qSNz_PG_GP36_Q18]
1. Interpersonal communication/siadeifeped iguur

[Option ID = 41344]
2. Intrapersonal communication/sia:dufepe Ywor

[Option ID = 41345]
3. Mass communication/Sier JgwoT

[Option ID = 41346]
4. Didactic communication/3ugercsd JguoT

[Option ID = 41347]

14) Which one of the following is an example of 'Pull Technology' form of communication?
forgatferRaa 3 A1 Plel AT AYWUT 'gel Tailciisil’ geU I ITE0T 3 ?

[Question ID = 25337][Question Description = S2_qSNz_PG_GP36_Q19]
1. Websites delivered to browser on search/2id @ @ gi3oR W 3cftaz 6t o1 daamse

[Option ID = 41348]
2. Websites that are advertised/fasmnfia & o€ dg2mse

[Option ID = 41349]



3. Social media sites/3ioret fiifSen amse

[Option ID = 41350]
4. Websites that are not alive/a deise it Afdr ot &

[Option ID = 41351]

15) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Quality questions promote deep learning.

Reason R: The quality of questions asked determines a teacher's level of success with a lesson.
In light of the above statements, choose the correct answer from the options given below

ofid ol Pl fGu arw 3 @ ud s (Assertion A) @ U & 3R GRI 3D BRI (Reason R) @5 »u 3 :
sifdraperet (A) @ JUTadIgYi Yosl 3160l SI2PTEA @l d@Idl &d &

@RI (R) : g8 31w ygall i spuradr ure @ darR 3 9181 &I Awerdr & Faz @i forerifea ol 8

IWRITD Dol B 3Mclid A, offd Ry fasedl # A A8 Iaz o1 w=Ie1 Hifste :

[Question ID = 25338][Question Description = S2_qSNz_PG_GP36_Q20]
1. Both A and R are true and R is the correct explanation of A/(A) 3iiz (R) @ail 3 3 32 (R), (A) &6t 31 wmeen &

[Option ID = 41352]
2. Both A and R are true but R is NOT the correct explanation of A/(A) 3iiz (R) cleil 311 & udoq (R), (A) P A&t e o8t 8

[Option ID = 41353]
3. Ais true but R is false/(A) 3 2, afdsar (R) sricr 2

[Option ID = 41354]
4. Ais false but R is true/(A) srie 8, cfdpat (R) 31 @

[Option ID = 41355]

16) What comes next in the following sequence?
5, 16, 51, 158, ?

il U a1u sigfapdt 3 3eICT FeITel UR ot 2l e smuafl ?
5, 16, 51, 158, ?

[Question ID = 25339][Question Description = S2_qSNz_PG_GP36_Q21]
1. 487

[Option ID = 41356]
2. 482

[Option ID = 41357]
3. 387

[Option ID = 41358]
4. 481

[Option ID = 41359]

17) Given below are two statements

Statement I: The length and breadth of a rectangle are increased by 10% and 20% respectively, then its area increases by
23%.

Statement Il: In 12 hours, the hour hand and the minute hand coincide 11 times.

In light of the above statements, choose the correct answer from the options given below

il ol Dol fdu sre 3 ¢

Deel - | : Al [l I &I cears sii= diss 3 aquror: 10% 3k 20% gig oI Sl & a1 D gigwet 3 23 % gfg el
et - Il 1 12 & 3 & & FgF iz frere &t I 11 ar v e frerdt

JURITP Dol D 3Tl 3, ofll fGu s1u fdedl 3 A 38 3= @1 =61 HifSte &

[Question ID = 25340][Question Description = S2_qSNz_PG_GP36_Q22]
1. Both Statement | and Statement Il are true/erer | 3ii2 || Sleil cer &

[Option ID = 41360]
2. Both Statement | and Statement Il are false/@ermwr | iz || Gloii sriT &

[Option ID = 41361]
3. Statement | is true but Statement Il is false/@err | 31 8, fbog werer |l sricr &

[Option ID = 41362]
4. Statement | is false but Statement Il is true/@emt | sRicT 8, fbog weret | 31T &

[Option ID = 41363]



18) Which of the following statements are correct?

A. The product of two integers is 500 and their difference is 5. Then, one of the numbers is 25.

B. The HCF of 108, 288 and 360 is 18.

C. The least number which is exactly divisible by each one of the given numbers is called their LCM.
Choose the correct answer from the options given below:

forgatferRaa werll u? frar @3 :

A. 3t guriet @1 spurerwet 500 3 3ii Sorept iz 5 3 dl Jotdt A uop e 25 3

B. 108, 288 silz 360 ot sHzaw Aduads 18 3

C. &l o5 Jizoansil & A gD FRI guia: fsnfSa Jael 81é dz 3oro! agdad AAIacd waclrd 3

il feu aru el 3 A A8 IR D1 WRIel B :

[Question ID = 25341][Question Description = S2_qSNz_PG_GP36_Q23]
1. Aand B only/@act A siiz B

[Option ID = 41364]
2. Aand C only/daer A siiz C

[Option ID = 41365]
3. Band C only/@act B siiz C

[Option ID = 41366]
4. Conly/aaea C

[Option ID = 41367]

19) The average of first 100 positive integers is
usct 100 ertca guiiat or s 3 -

[Question ID = 25342][Question Description = S2_qSNz_PG_GP36_Q24]
1. 50

[Option ID = 41368]
2. 51.5

[Option ID = 41369]
3. 50.5

[Option ID = 41370]
4. 49

[Option ID = 41371]

20) What per cent decrease in salaries would exactly cancel out the 20% increase?
deeil 3 fepeol yferora bt welt Iotdi bt 31 20 % i gfy; ol forsyerrdl o2 3ot ?

[Question ID = 25343][Question Description = S2_qSNz_PG_GP36_Q25]
1. 20%

[Option ID = 41372]

2. 2?%%

[Option ID = 41373]
3. ‘FS% %,

[Option ID = 41374]
4. ‘Fﬁ% %

[Option ID = 41375]

21) Which of the following statements are correct with reference to argument by analogy?
A. It is a deductive type of argument

B. It is an inductive type of argument

C. It is not intended to be mathematically certain

D. It is to be classified as either valid or invalid

E. Its conclusion does not follow from the premises with logical necessity

Choose the correct answer from the options given below:

AR FRI dd D Aocst 3 fororfciRaa # A Dot A werer A8 3 ?



A. 35 OPRIGIICHD Y®dR I adb Bl 3

B. uI6 PRIGICHD YBIR DI dd Il &

C. g a1fvrdi fe A forfda ordl drar 3

D. 321 #1e1 1 3T @ WU A geflapd g s 3

E. s forsod aifdbes smagaasar @ ATl MenR araRil A o1l foraera &
ofi o s1u faseal & A A8 IR BT wRI6T BT :

[Question ID = 25344][Question Description = S2_qSNz_PG_GP36_Q26]
1. A, Cand D only/d>ae A, C sfiz D

[Option ID = 41376]
2. A, DandE only/aae A, D sir E

[Option ID = 41377]
3. B, DandE only/@ae B, D siz E

[Option ID = 41378]
4. B, Cand E only/@qe B, C 3l E

[Option ID = 41379]

22) Match List | with List Il

List | List Il
In a Square of Opposition Resultant
IA. If 'Some girls are shy' is True I. 'E' and 'I' propositions are Undetermined
B. If 'All men are Tall' is False Il. 'A" and 'O are Undetermined
C. If 'No crows are white' is True I1l. 'E' proposition is False; 'I' proposition is True
D. If 'some flowers are not fragrant' is False[lV. ‘A’ proposition is False; ‘O’ proposition is True|

Choose the correct answer from the options given below:

et -1 B e -1l A g i

et - et -1
(rasaarit > Redvet et a1 ) Jr—

A, i e crafe omffch & 2 & I. 'E" altz 'I' o exrerer aferfaer &

B. 2R "woft g A ¥ Skt 11, 'A’ altz 0" arfdrfeer &

C. af ‘Bré o wde ol 3 @ B 1. E’ crasararer storr 2; I’ erasanaer it &
D. af " geu e odl ¥ o1 3 IV. "A’ crasaraer s1o 2; 'O’ rasarar adt &

ofid fOu a1w fascul 3 A A1) 3ar gfere ©

[Question ID = 25345][Question Description = S2_qSNz_PG_GP36_Q27]
1. A-,B-ll,C-1V,D- 1l

[Option ID = 41380]
2. A-1ILB-1V,C-1,D-Il

[Option ID = 41381]
3.A-IV,B-1I,C-1,D-1l

[Option ID = 41382]
4. A-11,B-1,C-1IV,D- Il

[Option ID = 41383]

23) Identify the fallacy committed in the argument.
All household pets are domestic animals.

No unicorns are domestic animals.

Therefore, some unicorns are not household pets.
oifar feu a1 aw 3 Blol AT AW 3 ?

213l Urerq SifetaR &3¢ SiielaR &

DI Yollasiol T3 SirelaR o1&l 3

sAfeIe, BB Yollwiol Urcry Sieraz o1dl 3

[Question ID = 25346][Question Description = S2_qSNz_PG_GP36_Q28]
1. Fallacy of Illicit Minor/ 3o - ugt - g

[Option ID = 41384]
2. Fallacy of Illicit Major /s - e - g

[Option ID = 41385]
3. Fallacy of Four terms/aqwg - gig

[Option ID = 41386]



4. Existential fallacy/si¥arau® g

[Option ID = 41387]

24) When an unperceived fact is supposed in order to resolve an apparent contradiction in the presented phenomenon, which one of the following

pramanas is employed according to Advaitins?
S Rt grga acenn 3 RRIETHRT @1 AAIeel dIl & fore ol sigcagt aear ol sifwfora fvar S 8, ad gdl @ SR foreiferRaa 3 A e ywmer @1 IuRieT fovan sirar 3 ?

[Question ID = 25347][Question Description = S2_qSNz_PG_GP36_Q29]
1. Pratyaksa/ycusr

[Option ID = 41388]
2. Anumara/amiet

[Option ID = 41389]
3. Arthapatti/srerfufer

[Option ID = 41390]
4. Anupalabdhi/ siopuetfser

[Option ID = 41391]

25) Given below are two statements

Statement I: The aim of Naiyayikas in formulating the anumana theory is to obtain prama (right knowledge).
Statement II: The aim of Naiyayikas in formulating the anumana theory is to verify only and only formal validity.
In light of the above statements, choose the correct answer from the options given below

ofi &t Dot Ru sme 3 :

P - | : segue Rigia @ yferurcer 3 oRnRrapl o1 339 garr (31 SiIeT) Y Bl

P - | 2 srgpere Rigia @ gferarca 3 sl o1 339w dad 3 dac siiuaif¥e fafREiear o1 Jcaue el &

SRt el d 3irelld 3, offd fu sre fameul 3 A 7Bl IR @I w6l BRI

[Question ID = 25348][Question Description = S2_qSNz_PG_GP36_Q30]
1. Both Statement | and Statement Il are true/emw | 3iz || Sloll 3T &

[Option ID = 41392]
2. Both Statement | and Statement Il are false/a@erer | iz || Gloil sRicr &

[Option ID = 41393]
3. Statement | is true but Statement Il is false /et | 311 8, fbog @t || sricr &

[Option ID = 41394]
4. Statement | is false but Statement Il is true/mermt | spic 8, fpog weel || 1 &

[Option ID = 41395]

26) A Network Interface Card (NIC) contains
olcad $cbA PIS (Tol 313 1) 3 drar 3 -

[Question ID = 25349][Question Description = S2_qSNz_PG_GP36_Q31]
1. Domain address/sSier o3t

[Option ID = 41396]
2. IP address/ st v

[Option ID = 41397]
3. MAC address/wi © 3t () v

[Option ID = 41398]
4. Port address/uic vt

[Option ID = 41399]

27) The number of bits in IPv6 addressing are:
IPv6 wgfier 3 fopaar fargt 3 3 ?

[Question ID = 25350][Question Description = S2_qSNz_PG_GP36_Q32]
1. 32 bits/32 e

[Option ID = 41400]
2. 64 bits/64 Rzt

[Option ID = 41401]
3. 128 bits/128 Ricat

[Option ID = 41402]
4. 256 bits/256 fica

[Option ID = 41403]



28) Given below are two statements regarding Wireless Access Points (WAPs).

Statement I: WAPs are connected into the wired network at fixed locations.

Statement Il: The WAP receives and transmits data between the two wired LANs.

In light of the above statements, choose the correct answer from the options given below
ARIFCIA TR WIECA (Socyg U Ul) o der 3 ofi) 3f deret fRu are 3 :

ool - | secy u ol forerif¥a Femell R dr b olcad A IF3S AA

@l - |l : Secy w Ul Gl dR - Yeb el € vol (cliper UhRI oleaas) @ i 3e1 gra siik Yfta o &
SWwRIP Deell d relld 3, o e sre fameul 3 A 8l IR @I w61 BRI ©

[Question ID = 25351][Question Description = S2_qSNz_PG_GP36_Q33]
1. Both Statement | and Statement Il are true/aerer | iz || Gloll 3rcer 3

[Option ID = 41404]
2. Both Statement | and Statement Il are false/a@erwor | iz 1l Qail 31T &

[Option ID = 41405]
3. Statement | is true but Statement Il is false/@epr | 31 &, fbog @eel |l sRI=I & |

[Option ID = 41406]
4. Statement | is false but Statement Il is true/@emr | sRIcT 8, fbog werer | 31T &

[Option ID = 41407]

29) Following are the statements regarding a Repeater
A. It distributes the data packets

B. It is added to transmission systems to boost the signal
C. It sends the data to a specific computer

D. It can also be used on wireless systems

Choose the correct answer from the options given below:
fdics @ an 3 oflY weror iR sre 3 :

A. 5 31 Uddca ol faafsa ozar

B. 321 Rorer @1 aftfa ol @ fére Farvr gunel 3 siist srar 3
C. Iz fafdrse BIRIC DI el ASidl &

D. s3rop1 SURIeI arR - M3a gunferil 3 off e s a1par 3

il fou s1u frpeul 3 A & IR BT a6l HIfSIE ©

[Question ID = 25352][Question Description = S2_qSNz_PG_GP36_Q34]
1. A, B and C only/daa A, B siiz C

[Option ID = 41408]
2. B and D only/@act B siiz D

[Option ID = 41409]
3. Cand D only/@qa C sik D

[Option ID = 41410]
4. Aand D only/ddct A siiz D

[Option ID = 41411]

30) Match List | with List Il

List | List 1l
Devices Example
IA. Input devices I. Radio frequency identification readers|

B. Direct data entry|ll. DVD
C. Output devices |III. Joysticks

D. Data backup |IV. Speakers

Choose the correct answer from the options given below:

et -1 Bt gt -1l 3 AR B :

et -1 et -1
(ars2rst) (3c132U1)

T —— I el uftadft ams3Rfscdoror fsaf
Y — I, & & &

C. Bkt aftelf (strseye Reredsn) i, stierfear

D. c1 8w - aw IV. sdiet




ofld R s1e faweul 3 A Al 3a= gfore :

[Question ID = 25353][Question Description = S2_qSNz_PG_GP36_Q35]
1. A-,B-lILbC-1,D-IV

[Option ID = 41412]
2. AILB-1,C-1IL,D-1IV

[Option ID = 41413]
3. A-1L,B-1,C-1V,D-Il

[Option ID = 41414]
4. A-IV,B-1,C-1I,D-1Il

[Option ID = 41415]

31) Biochemical Oxygen Demand (BOD) is a key indicator of the process performance of waste water treatment plant. The
plant is said to be efficient, when BOD:

arRNOfIDe sifaiisiol Bais (d:0El) srafdrse st oNlerol i & PRI foTcuIGsl DI U IR ADAD & =il IR DI ad ASIH Dal Sl 8 Sl
et -

[Question ID = 25354][Question Description = S2_qSNz_PG_GP36_Q36]
1. Increases/aadl

[Option ID = 41416]
2. Decreases/=edt 8

[Option ID = 41417]
3. Remains unchanged/smuafefa &t 2

[Option ID = 41418]
4. Increases for first 36 hours/uscr 36 #icl 3 aacdt &

[Option ID = 41419]

32) Over the past 100 years, the estimated rise of global sea level is by 10 to 25 cms or more. This is attributed to which of
the following?

A. Thermal contraction of ocean water

B. Melting of glaciers and small ice caps

C. Thinning of the Greenland ice sheet

D. Changes in terrestrial water storage

Choose the correct answer from the options given below:
forocr 100 adf 3 faea 3 2wg Faz o 10 A 25 A6 ar siffras 6 g Slot oI Mo & $ADT BRI 3 -
A. HBERIPERI Siel @I didi¥ - ol

B. fB#eici siiz o1y fdaAfdrarl w1 frarcron

C. 3ficicivs &t aw bI 162 D1 Uadr SNl

D. Fercfir Stensisrur 3 uf¥acdor

oifd fu sru frpeul 3 A Al IR BT RIS DIfSTU :

[Question ID = 25355][Question Description = S2_qSNz_PG_GP36_Q37]
1. Band C only/dqet B sfiz C

[Option ID = 41420]
2. A, Band Conly/@ae A, B iz C

[Option ID = 41421]
3. B, Cand D only/dact B, C sz D

[Option ID = 41422]
4. A, Cand D only/d@ae A, C 3liz D

[Option ID = 41423]

33) The main concept behind solar ponds to store the solar energy is
IR Hell D HUSRUI D fé1U AleR UisAa @ Uis TR [@ERIN 3 -

[Question ID = 25356][Question Description = S2_qSNz_PG_GP36_Q38]
1. Presence of sand in the pond/drera 3f dre) @ urM Sirel

[Option ID = 41424]
2. Fixed salt gradient from surface to bottom in the pond/dreia 3 s 3 dct Ad c1qur @ fGifd Duil BT URI Siiell

[Option ID = 41425]
3. Uniform salinity of pond/arecir &t v w6l cIduiAar

[Option ID = 41426]



4. Presence of solar cells in the pond/drcia 3t ez et T URT Siiol

[Option ID = 41427]

34) Disaster Management Act came into existence in
e gderel sif2iforent fipar adl sifrforifira fopem srm ?

[Question ID = 25357][Question Description = S2_qSNz_PG_GP36_Q39]
1. 1985

[Option ID = 41428]
2. 1992

[Option ID = 41429]
3. 2000

[Option ID = 41430]
4. 2005

[Option ID = 41431]

35) Arrange the following components of municipal solid waste in order of their increasing abundance.
A. Paper and Cardboard

B. Food

C. Tin Cans

D. Dirt and Ash

E. Textiles

Choose the correct answer from the options given below:

SPRUIfTDT @ ST 3rafdree @ forFoIfeiRad el Bl Joid UTY Sl @ a6 Ba 3 4 :
A. oPrI 3k ok

B. sisiot

C. 8o & g0l 369

D. gt sz 2ra

E. @

il feu sru faeedl 3 A A8 IR D1 TRIet B :

[Question ID = 25358][Question Description = S2_qSNz_PG_GP36_Q40]
1. E,C,D, A, B

[Option ID = 41432]
2. C,E,D,B,A

[Option ID = 41433]
3. E,C,A D, B

[Option ID = 41434]
4. E,C,D, B, A

[Option ID = 41435]

36) The main reason for low enrollment in vocational education courses in India is
SR I RTARID {1811 UIGIapdil 3 fordol - SIIidol DI FIRT PRYI 3 -

[Question ID = 25359][Question Description = S2_qSNz_PG_GP36_Q41]
1. High fee structure/3ca gca izdon

[Option ID = 41436]
2. Wrong perception of vocational education among students and parents/sIqi iz sifdrsmact 3 crranRia forgm @ ard 3 sicld emum

[Option ID = 41437]
3. Lack of adequate infrastructure to impart Vocational education/maRiw 318 ygiel ol @ 1w wRIfd /il oI 3eia

[Option ID = 41438]
4. Unavailability of large number of vocational courses/sst i 3 AR gl bt sroucrstAar

[Option ID = 41439]

37) Which one of the following sections of the UGC Act is concerned with the promotion and coordination of university

education for the maintenance of standards of teaching examination and research?

it 21 siftiforier b forgsiferRad 3 A olat 2l et Rigrvr udlen siiz oNer & JAlora Fole 3ol D fere frafdencr Rign @ FHaele siiv A6 A

JHdfera 3 ?
[Question ID = 25360][Question Description = S2_qSNz_PG_GP36_Q42]



1. Section 28/emar - 28

[Option ID = 41440]
2. Section 25/emr - 25

[Option ID = 41441]
3. Section 14/«mr - 14

[Option ID = 41442]
4. Section 12/emar - 12

[Option ID = 41443]

38) What per cent of the children’s brain development occurs prior to 6 years?
6 ad &l 3y A usel aedl D ARTED DI b yferera Rt 8 sirr 3 ?

[Question ID = 25361][Question Description = S2_qSNz_PG_GP36_Q43]
1. 25%

[Option ID = 41444]
2. 45%

[Option ID = 41445]
3. 65%

[Option ID = 41446]
4. 85%

[Option ID = 41447]

39) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: The aim of education in ancient India was not just the acquisition of knowledge but preparation for life in this
world beyond schooling.

Reason R: Ancient Indian education laid emphasis on complete realisation and liberation of self.

In light of the above statements, choose the most appropriate answer from the options given below

il €1 erol fu a1w 3 1 uop sifdraserat (Assertion A) @& wu 3 iR ¢RI 3AD dRYT (Reason R) & wu & :

sifdrperet (A) : Yreiiol IR 3 181 DT IZ9A AT SAIol YIH D6l oldl AT dfcd BIe DI F<pell 1811 A U 31 SO J Sildol @ fe1u dRIR delr a1
@Rt (R) : yredior srRedlRr 13181 or gt sirearsiel sii= 3ied - PP R aa Gar

SURID Dol D 3Icllid H, ofld fGu famcdl 3 A 7 3a= &1 wrRIel Hifsrw :

[Question ID = 25362][Question Description = S2_qSNz_PG_GP36_Q44]
1. Both A and R are correct and R is the correct explanation of A/(A) siiz (R) g¥ail 21t 8 3l (R), (A) 6t 3 = 8

[Option ID = 41448]
2. Both A and R are correct but R is NOT the correct explanation of A/(A) 3iiz (R) cleil 3@t 3 woq (R), (A) 6t 3 w1 ot &

[Option ID = 41449]
3. Ais correct but R is not correct/(A) & 2 w3og (R) & ot 3

[Option ID = 41450]
4. A'is not correct but R is correct/(A) 3@t st 8 wog (R) &t 2

[Option ID = 41451]

40) Given below are two statements
Statement I: Value development requires conscious, planned and deliberate attempts by the school and the teachers.
Statement II: Values needed for sustainable development cannot be taught in a school setting.

In light of the above statements, choose the most appropriate answer from the options given below

off< < werer fRw a1 3 :

werel - | @ e - o @ fore Fapet Siiz sremuel @ FRIdel AforNfSra iz Fferanfya gt smagas 3k 3
@erel - |l : w1aa frer @ ot smavae dca Taell arararur # oéf R s Jaod 3

IURIP el @ sielld 3, ofid fou frsedl i A A IR BT aRIet Hifdre :

[Question ID = 25363][Question Description = S2_qSNz_PG_GP36_Q45]
1. Both Statement | and Statement Il are correct/erer | 3iiz || et 3@ &

[Option ID = 41452]
2. Both Statement | and Statement Il are incorrect/@erer | 3iiz || Sloil srcteT 3

[Option ID = 41453]



3. Statement | is correct but Statement Il is incorrect/wmemor | 2@l &, fbog weel |l s &

[Option ID = 41454]
4. Statement | is incorrect but Statement Il is correct/@er | srer &, fpog @eret || 1@t &

[Option ID = 41455]

Topic:- GP36_D1_SH1_Set2_C

1) Read the given passage and answer the question that follows :

Let us try to explain social life as the pursuit of pleasure and the avoidance of pain. You will soon be saying that the
hedonist begs the question, for even supposing that man does pursue these ends, the crucial problem of why he thinks one
course rather than another likely to produce pleasure, is untouched. Does the guidance of man's conscience explain? How
then does he happen to have the particular conscience which he has. The theory of economic self-interest? But how do
men come to conceive their interest in one way rather than another? The desire for security or prestige or domination or
what is vaguely called self-realization? How do men conceive their security, what do they consider prestige, how do they
figure out the means of domination, or what is the notion of self which they wish to realize? Pleasure, pain, conscience,
acquisition, protection, enhancement mastery are undoubtedly names for some of the ways people act. There may be
instinctive dispositions which work toward such ends. But no statement of the end or any description of the tendencies to
seek it, can explain the behavior which results. The very fact that men theorize at all is proof that their pseudo-
environments, their interior representations of the world, are a determining element in thought, feeling, and action. For, if
the connection between reality and human response were direct and immediate, rather than indirect and interred
indecision and failure would be unknown and (if each of us fitted as smugly into the world, as the child in a womb), Mr.
Bernard Shaw would not have been able to say that except, for the first nine months of its existence, no human being
manages its affairs as well as a plant.

fogetferRaa srerior @l eareIgded ug 3ii? ofld 3w 31w Yot ot Jaz difste :

35T &3 PH UTol 3R G:& A <ol D JART D HU J ARG Siidel Bl SRS B0l DI YRR Bt 3 31U ofig a6 @6 3 2ol 5 Jaardt as
o5t gadl 3 o5 910t &) s ol forn SIe {35 AT Sof 329311 B I d2ol T YART BT 3, AAfdbol Y IR As 3 fob as Y1 =il Araen 3 v
fRp2ft s3I BRI B B2 A I frcrar bt vraen 3 Gl 6 BRI B A ¥l A Yool WR 3 ab R a8 a1 SR & @RI g D
3BT DI ARG 3D RIRRM BT & dd AT Yoal 30dl & b 3AD urd adl fafdree sia:au1 HA & St 33D ura & nffes Faret a1 RBrgia
? cifdpol AT 316 D D TSI fepAl uap A3l A 3uel f&a &I ulmcdsit A w1 & F3EM, AT YIIcol, AT Ygrd DI 5T AT 3RUTE 31U A
BRI seaARily sl SIiar 8 ? AW 3Uoil FgN DI ufvctoll DA D 3, d Yfersol v Aleld 8, d Yyed D ATer6ll DI UAl DA BI 3, Al
3red 1 BRI = 3 Bl @ Rify asa 3 ? g, g3, sid:avl, 3ursiel, HemI, giy, frgurar or:ids u A oo adid & Rl gia dla:
clier orRf w2A T Fof 33931 DI YA war G Azt Yghern A AGA 3 Afbor 329a @1 BIE Ml werol a1 $A gia w2el Bl ygierll o1 Bif avfer
gl RIaeR 6l RIS 18 B2 APl 3 U8 A b AR ArIcAHUT B 3 Sl 3 dId DI AY 3 b Jord MR - ardraRul den AR D
aR 3 Jordl srialy yFgferii Soid> @R, sirdon $iik fopzn 31 forerizas ava dicdl ¥ Ieeeur @ fere Afe arafdamdn siiz #Aea sofdpn @ da JAder
YA 31 IHIfOIA Blol D FSIRI Yeagl 3R dcpIcl 3IdI & dl 3iforvia 3iiR frberar @1 udr o181 acien 3R (Al & A YRID cAfth AAR 3 seloil
Jdblufar & arer 3@ @1 & SI o5 vep acan st 3 ear 3), off gaifsS 9if of Uz o1&l a1 alar o5 sruol IR dra @ Yerd oil HIe D 3icTdar DI 31t HwA
3 6 SIb A DI oIdl BT & SIA B up dierr b &

What is the main issue when man pursues hedonistic goals?
S IS JWAIST IZ9AT B YIH Dol bl YRATRA DIl & dd T FET a1 Il & 7

[Question ID = 25364][Question Description = S2_qSNz_PG_GP36_Q46]
1. Seeking pleasure self/a Ja areen
[Option ID = 41456]
2. Single course of choice/we fdwca
[Option ID = 41457]
3. Multiple preferences/siol® yreifdian

[Option ID = 41458]
4. One's own conscience/xIfRp @1 =i @I 3T

[Option ID = 41459]

2) Read the given passage and answer the question that follows :

Let us try to explain social life as the pursuit of pleasure and the avoidance of pain. You will soon be saying that the
hedonist begs the question, for even supposing that man does pursue these ends, the crucial problem of why he thinks one
course rather than another likely to produce pleasure, is untouched. Does the guidance of man's conscience explain? How
then does he happen to have the particular conscience which he has. The theory of economic self-interest? But how do
men come to conceive their interest in one way rather than another? The desire for security or prestige or domination or
what is vaguely called self-realization? How do men conceive their security, what do they consider prestige, how do they
figure out the means of domination, or what is the notion of self which they wish to realize? Pleasure, pain, conscience,
acquisition, protection, enhancement mastery are undoubtedly names for some of the ways people act. There may be
instinctive dispositions which work toward such ends. But no statement of the end or any description of the tendencies to
seek it, can explain the behavior which results. The very fact that men theorize at all is proof that their pseudo-
environments, their interior representations of the world, are a determining element in thought, feeling, and action. For, if
the connection between reality and human response were direct and immediate, rather than indirect and interred
indecision and failure would be unknown and (if each of us fitted as smugly into the world, as the child in a womb), Mr.
Bernard Shaw would not have been able to say that except, for the first nine months of its existence, no human being
manages its affairs as well as a plant.



forgotferfRan srerior @ earegd® U iz oflA U 31w yeor @t 3w Sifvme :

33T 33 I UTol 3R g A TeIel D YART D P4 A ATHIRID Sfidel Bl IR D6l BT YARI @ & 34 9fiy a8 @s 3 6l [ Jwardt as
gest g 3 5 erct &t as Jrel forn She 5 FoIsT Sof 3291 @I YT 2ol T YRIIRA BT 3, Alfdpol Yad A3 Ag & b a6 v o=l Hraar 3 i
fop2ft srgd DRI B Dol A P frerol b siraoen 3 S1afes 3o BRI Bl A oIl A Yool UR 3G b IR ol fopar srm & @RI AT D
3T BIT DI APIGIeT $AD! RIRRT BN 3 ad AT Yl IodI & fob IAD ura adl fafdree sia:as2or BA 3 Sl 3AD urA & 3ufdfas Faref o1 Bigia
? cifepol AT 3161 D D Tl fpil vep adld A 36l Ba &I ulvcust A wer 3 A8, AT YISl A1 Yoged Dl 1 AT 3RUTE WU A
BRI sircaARily @ar sirar 3 ? Ao 1ol g &I ufvdcust BA @ 3, d yfersst A Alerd 3, A Yged D ATeell DI Udl DA P 3, Al
e b1 AR o= 3 Brrdl d Rify arsa 3 ? 3w, g, sia:@vl, 3ush, Hemr, giy, forgurar for:2ids U A g adid T ferl g e
cllol PRI DA & 3ol IL9Al DI YIA Dol DI AssT YgieRIl 3l Ad«dl 8 clfcbol 359U DI DI 9l Derel AT $A YA Dol DI ygierll @1 DI avior
aivIRl RIGeR I RRRAI 18l B2 APl & U8 A [ A ArdIcdyUl B & Sl 3 dId DI AYA 8 [ Iold MHRIT - aIAraRUI de JAAR D
aR 3 Jordl snial¥as yFgferii Joid> R, sirdon siiz fogan 3 forerfas awa il T Igeur & fere Afe arafiear iz #ema siolfgn & dia Fder
AgcAel 33 AT Slol B TSIRI YeAel 31 dceblel 3l & dl siforvfr sl farserar o1 uar ol acion iz (Afe 33l A yA® caftp AR ¥ st
AbIviar & A1er 36 BT & SR 6 vas acan st 3t a1 3), off Foifs 9if of A6 ol el Al b 3ruet ¥ ara @ Y ol Ale D IIcIdl DI ot AT
3 6 SIb A DA I8l DI 8 SiA Bl vp dien o &

A man'’s course of action is guided by
dilord fopen fopad g1 Aeicidfa axdl 3 ?

[Question ID = 25365][Question Description = S2_qSNz_PG_GP36_Q47]
1. Collective action/mfd® fiRn grRt
[Option ID = 41460]
2. Critical evaluation of choices/fdwecul @ Jfigncad Fcridor gRT
[Option ID = 41461]
3. Pursuit of self-interest/zaref grr

[Option ID = 41462]
4. The thought of social welfare/BufSIe weenvr @ @R grI

[Option ID = 41463]

3) Read the given passage and answer the question that follows :

Let us try to explain social life as the pursuit of pleasure and the avoidance of pain. You will soon be saying that the
hedonist begs the question, for even supposing that man does pursue these ends, the crucial problem of why he thinks one
course rather than another likely to produce pleasure, is untouched. Does the guidance of man's conscience explain? How
then does he happen to have the particular conscience which he has. The theory of economic self-interest? But how do
men come to conceive their interest in one way rather than another? The desire for security or prestige or domination or
what is vaguely called self-realization? How do men conceive their security, what do they consider prestige, how do they
figure out the means of domination, or what is the notion of self which they wish to realize? Pleasure, pain, conscience,
acquisition, protection, enhancement mastery are undoubtedly names for some of the ways people act. There may be
instinctive dispositions which work toward such ends. But no statement of the end or any description of the tendencies to
seek it, can explain the behavior which results. The very fact that men theorize at all is proof that their pseudo-
environments, their interior representations of the world, are a determining element in thought, feeling, and action. For, if
the connection between reality and human response were direct and immediate, rather than indirect and interred
indecision and failure would be unknown and (if each of us fitted as smugly into the world, as the child in a womb), Mr.
Bernard Shaw would not have been able to say that except, for the first nine months of its existence, no human being
manages its affairs as well as a plant.

forgotferfRaa srerior @ eareigde ug 3iiz ofd fGu s1w yeot o1 Iaz Sifdm :

33T 331 I Ulal 3R G A TcIel D GRIIRT D WU 3 ARIRIP Sfidel bl RARRN Bl BT RIRI D 3 31U 9fiy a1 ws 3 diel b Jwarc) as
geot godl 3 5 1t 8l A1s Jirel forn e {5 A9 $o1 329301 WY YIH 2ol BT YRIRT BT 3, cifdbol YR I AT 3 fop as Va1 o=l Araar 3
fop2lt 3D BRI B B2 A I frcrar b Fvraen 3 Gl 36 BRI B A ¥l A Yool WR 3 ad AR ol A sRr & @RI Ao
3id:201 oI ARGl $ADI R Bl 3 ad Az Yool Iodl 8 fb 3ud ur adl fafdrse sid:azor BA 3 Sl 3AD urd 3 snffas Faref @1 Rigia
? Afdpol AR 316 WD D oI fep=l uap a3l A 3ol f&a &I ulmcysit By w1 & F2e, AT YIreol, AT Yged DI 53T AT 3RUTE 14 A
BRI seaARily sl SIiar 3 ? #oIWI 3Uoil FRgN DI ufvpeuoll DA DA 3, d Yfersol v Aleld 8, d Yyied D ATeU6ll DI Udl DA PIN 3, AT
e o1 IfIYRI o= 3 fridbt a Rifyy ared 3 ? 34, g4, sia:avl, 3ursiol, eI, gig, forgumar for:ics u A €8 adid 3 RerRl Yia Ao
ciler orRf @A sof 3291 D YA w6 Asst ygferdi A Al T ARbor 329a @1 BIF 9t werot a1 $A I Bat Bl ygferit o1 B avfar
uRuIell RIaeR &l RIRRIT oI8l B2 ADdI 3 A6 AT [ AR AFdIcATUT B 3 Sl $A I DI AYA 3 b Ioid MRl - iRl e IAR D
R 3 Jorchl sriaf¥e YFAferRI Joid R, siraon iR fpzn 3 forafees ama et ¥ Sereeur & e Afe arafdedar siiz arera srofegen @& S Ader
gl 3R sropatford dlol @ &SRl Yeael 3R dcaplel Xl 3 dl siforvf 3iir fberar @1 uar o1l arcien 3R (Al 336 A Yedb aftp IAR 3 sebofl
JHIviAr @ AT I I 8 Sid b v o opi 31 Taar 3), off aaIis 9if of s o8l el alar b 3ol 3iara @ Y il e D 3IfciEl DS o I
32 8 SIP A D oldl DI 3 SR Dl U Ulel ol 3

The thoughts of men are decided by
=il @ forar foads grr frerfya aia 3 ?

[Question ID = 25366][Question Description = S2_qSNz_PG_GP36_Q48]
1. Their environment/3od drdavr grRI

[Option ID = 41464]
2. Their behaviour/3e® ®@ER gRI

[Option ID = 41465]
3. Societal tendencies/ o ygfierll grRI



[Option ID = 41466]
4. Their inner perception of the world/3iRm= @ a3 3 Ierdht 3iaf¥e® amvn grRI

[Option ID = 41467]

4) Read the given passage and answer the question that follows :

Let us try to explain social life as the pursuit of pleasure and the avoidance of pain. You will soon be saying that the
hedonist begs the question, for even supposing that man does pursue these ends, the crucial problem of why he thinks one
course rather than another likely to produce pleasure, is untouched. Does the guidance of man's conscience explain? How
then does he happen to have the particular conscience which he has. The theory of economic self-interest? But how do
men come to conceive their interest in one way rather than another? The desire for security or prestige or domination or
what is vaguely called self-realization? How do men conceive their security, what do they consider prestige, how do they
figure out the means of domination, or what is the notion of self which they wish to realize? Pleasure, pain, conscience,
acquisition, protection, enhancement mastery are undoubtedly names for some of the ways people act. There may be
instinctive dispositions which work toward such ends. But no statement of the end or any description of the tendencies to
seek it, can explain the behavior which results. The very fact that men theorize at all is proof that their pseudo-
environments, their interior representations of the world, are a determining element in thought, feeling, and action. For, if
the connection between reality and human response were direct and immediate, rather than indirect and interred
indecision and failure would be unknown and (if each of us fitted as smugly into the world, as the child in a womb), Mr.
Bernard Shaw would not have been able to say that except, for the first nine months of its existence, no human being
manages its affairs as well as a plant.

forgotferfiac srerior @ earegde U iz ofld fGu 31w yeotr ot 3= Sifvre :

33T &3 P UTal 317 G A Teel D YJART D WU 3 ARG Sildel Bl IR @36l B YRR @ 3 3mu ofiy 316 @6 3@ aldl 5 gaaardt as
gosl ysdl 3 oo e1ct &1 s el ferRIT SIu oo AT 361 3293l DI g @0l I YRIRT DAl 3, cIfchol Y AT s & b a6 QAT =il Al 3 o
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? cifepol AT 3161 AUD D ToIr Pl vep afid A 316l 3a & ulscust A waar 3 e, AT YIrsol, A1 Yeged Dl 501 AT 3RUTE WU A
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If the connect between reality and human response is direct, it will result in
Afe arfdemdr iR Arora reffeprn @ i Ader yeast siar 3, dl sA®I ufevns 3P -

[Question ID = 25367][Question Description = S2_qSNz_PG_GP36_Q49]
1. Self-realisation/smcafifg
[Option ID = 41468]
2. Acquistion of prestige/yfersor @1 3ursfor
[Option ID = 41469]
3. Successful actions/3mwer figzme

[Option ID = 41470]
4. Useful theorisation/3u=isfl Rrgicfiazur

[Option ID = 41471]

5) Read the given passage and answer the question that follows :

Let us try to explain social life as the pursuit of pleasure and the avoidance of pain. You will soon be saying that the
hedonist begs the question, for even supposing that man does pursue these ends, the crucial problem of why he thinks one
course rather than another likely to produce pleasure, is untouched. Does the guidance of man's conscience explain? How
then does he happen to have the particular conscience which he has. The theory of economic self-interest? But how do
men come to conceive their interest in one way rather than another? The desire for security or prestige or domination or
what is vaguely called self-realization? How do men conceive their security, what do they consider prestige, how do they
figure out the means of domination, or what is the notion of self which they wish to realize? Pleasure, pain, conscience,
acquisition, protection, enhancement mastery are undoubtedly names for some of the ways people act. There may be
instinctive dispositions which work toward such ends. But no statement of the end or any description of the tendencies to
seek it, can explain the behavior which results. The very fact that men theorize at all is proof that their pseudo-
environments, their interior representations of the world, are a determining element in thought, feeling, and action. For, if
the connection between reality and human response were direct and immediate, rather than indirect and interred
indecision and failure would be unknown and (if each of us fitted as smugly into the world, as the child in a womb), Mr.
Bernard Shaw would not have been able to say that except, for the first nine months of its existence, no human being
manages its affairs as well as a plant.
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The gist of the passage is that the human behaviour is dictated by
3STETi9I I AR s 3 fob dlotd =Iasr forSfdra axar 3 -

[Question ID = 25368][Question Description = S2_qSNz_PG_GP36_Q50]
1. The harsh realities of the world/Rir &t ok arafaasil grt

[Option ID = 41472]
2. Choices for pleasure/3pa @ fd@cdl grRt

[Option ID = 41473]
3. Seeking smugness in a false world/fée=r Ser 3t idbivfar smetor grRT

[Option ID = 41474]
4. Emotional vagueness/#Idrcaid 3RUCAl GRT

[Option ID = 41475]






